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BBEJIEHHE

YBaskaemblil DpeTennenT!

PI'KIT «HanuosansHe HEHTp TecTHpoBaHus» MpuHUCTepcTBa 0Opa3oBaHUd U
Hayku Pecrmybmuku Kaszaxcran npemnaraer ydeCHO-MeToAwdecKkoe NocoOHe s
HOATOTOBKM K BCTYNHTENbHBIM 3K3aMEHaM B MAarucIpatypy, HOKTOPaHTypy,
Pe3UEHTYPY, aNBIOHKTYPY HO aHTTHHCKOMY SI3BIKY.

1. TecT 10 aHMMHMCKOMY S3BIKY COCTOUT U3 3-X OITOKOB:

baox I - Ayauposanne

B nanHbi 60K BXOMUT NpOCHyIINBaHHE 4 ayAHOTEKCTOB W BEINONHeHHE 20
TeCTOBBIX 3ajgaHmil. Kaxneid aynuomarepuan 3amwcaH ABykpatHo. I[locne
TIPOCAYIMBAHUS KaXIOTO TeKCTa Ja8TCs BpeMs Ha BHITONHEHHE MPENIOKEHHBIX K
HeMy IL1TH TeCTOBBIX 3a/laHui.

baox II -Jlexcnko-rpaMmaTHyecknii Tect

Jlekcmko-rpaMMaTAdecKuii  TecT cofepxkHT 50  TecTOBEIX  3amaMuil.
Coxepxanue IpeyiaraeMbIX TeCTOB JaéT BO3MOXHOCTh IPOBEPHTH YPOBEHb 3HAHMEL
0  A3BLIKOBRIM  HOpMaM  (NeKCHYecKHM,  TpaMMaTWJecKMM),  YCBOEHHE
JTHHTBUCTHIECKUX IIOHATHH (boreTHueCKHX, JEKCHKONOTHYECKUX,
rPaMMAaTHYECKHX ), BJaJeHHe cirocofaMu JeHCTBUA Py aHATM3E A3BIKOBBIX SBICHHE.

Baox 111 - Yrenne.

B paunwii 610K BXOQUT 4 TeKcTa ¥ BhuionueHue 30 TecTORLIX 3afanuii. [Tocae
TpOYTEHNS KAXIOT0 TeKCTa JaéTCa BPEMs HA BHITIONHEHHE NPEUIOKEHHBIX K HEMy
TECTOBBIX 3aaHMI.

2. Kaxpoe 3agmaHme TpeGyer BpI6Opa OOHOTO IPABIIIBHOTO OTBETA M3 5
IIPEANOKEHHEIX BAPHAHTOB.

3. TecToBble 3aaHHA NIPEAIOKEHE! 10 TPEM YPOBRHSM CIIOKHOCTH: A- JIErKHe,
B — cpennue, C — coXHEIE.

4. [ng cavonpoBepku cieayeT oOpaTHUTBCS K NPUIOKEHHBIM KOAAM
[IPaBUJIbHEIX OTBETOB B 3aXIIIOYUTENBHOM YacTH 1ocoGH4.



Hncrpyxknus

110 ¥CNONB30BaHHIO ayJHOINCKOB JJISI TOATOTOBKH K BCTYIIATCIEHBIM 3K3aMEHAM

B MarucIparypy, JOKTOPaHTYpy, Pe3HICHTYPY, aXbIOHYKTYPy 10 HHOCTPAHHEIM
S3BIKAM

Ha ayaouomucke (3Bykx B dopmare MP3) 3ammcanel 4 TeKcTa IO AHTIMHCKOMY
A3BIKY.

HOpH,T_IOK TIPOCIIYIIVBAHAA 3aIIMCH TEKCTOB Ha 8y JHOJHUCKE:

—

. MysbIKansHEI CHTHAI (B Hadalle IEPBOTO TEKCTa).

2. Texcr Ne 1- npocoyIHBaeTcs ABAXKIEL.

3. Tlaysa k TexcTy Ne 1 (BpeMs HA BBRINIOJIHEHNE TECTOBBIX 3aaHiH O
HOMepamu 1-5)

4, Texker Ne 2- nmpociryniuBaeTcs ABAXKALL

5. Taysa x Texcty Ne 2 (BpeMs Ha BHIIONHEHUE TECTOBBIX 3aaHHIH MOK
HoMepamu 6-10)

Teker No 3- mpocirynmiBaeTcs ABAXKIEL.

7. Maysa x Texcty Ne 3 (Bpems Ha BEINONHEHHE TECTOBBIX 3a/laHuUil IO
HoMepamu 11-15)

Texct Ne 4- mpociymuBaeTcs JBaX(LL.
ITaysa x Texkcry Ne 4 (Bpems Ha BHIIONHEHME TECTOBBIX 3aanuil IOJ,
HoMmepamy 16-20).

10. Tlo oxoHYanMM BpeMEHH NIPO3BYHUT 3BYKOBOM CHTHAN O 3aBEPIICHUH TECTa
Ha cITylIadge.

*

O o

Ilepen npocaymusanem ayauo BHEMATENbRO NPOYUTANHTE HHCTPYKIHIO!



Creundukxanus Tecta
1. Hazpanne tecra:
TecT mo pucUIHHE KAHRTTHRCKUH S3BIK»
2. Hean:
Tect paspaboTaH 1 MPOBeASHAS BCTYIIHTENBHOTO SK3aMeHa B MardcTpaTypy
0 IACIMITIHHE «AHDIMACKYN A3BIK» B OPraRU3alMAX BBICIIETO
npodeccroHatpHOro oOpasopanns Pecy6maxy Kaszaxcran.
3. 3apaua: .

OrpenencHie HOMEHKIATYPBl H3BIKOBBIX S#BIEHEN (IEKCHYECKMX eNUHIL,
$opMya pegeBoro oOIIEHUs, IPaMMATHIECKUX OPM B KOHCTPYKLIMI), TEMAaTHKA
TEKCTOB JUIS YTCHHA H ayXHPOBAHUS NepeyHs OCHOBHEIX YMEHHH W HaBLIKOB
HHOS3BMEOTO OOMEHNs, YPOBEHD CHOPMHPOBAHHOCTH IO aHIMIMICKOMY S3BIKY.

4. ConepskanHe TecTa:

KommaekcHeI#H TEeCT ompejiensieT  YPOBEHb chOpPMHIPOBAHHOCTH
KOMMYEHKaTHBHBIX YMEHHH CTyIIaHHI K YTEHH:, 4 TakKe OQOPMIECHHOCTH peds
(nexcuko-rpamMmMaTEveckmii TecT). B TecT BKMOUeH Marepwanl MO AHCIMILIAHE
«AHTTMICKEH S3BIK» IO CHEAYIOMHUM pasienam:

Tembl, IOXTEMbI | Conepxanne
AyauapopaHue

Ha CD z2anmcass! TEKCTHL
[Tposepsercs ypoBEeHb BOCIPUATHS W HOHUMAHNE UHOAIBIMHOH pedl B 3alCH HA
CIIyX, a Taxxe riobaibHOe W JEeTANBbHOS INOHWMARNE IIPOCIYIIAHHOTO TEKCTa C
OHOpOH Ha W3Y9EHHBIH S3BIKOBOH MarTepHan, (POHOBEIE CTPAHOBENYECKHE H
1pothecCHOHANbHbIE 3HAHMS, HABHIKH #3BIKOBOM # KOHTEKCTYAlIbHOM HOrajKH,
| yMEHHE OIPENETHTE TEMY, UIEI0 TEKCTa.
YenoBex H €ro Porcreennsie cBa3u. CeMpd U LIEHHOCTH CEMEHHOM XKU3HY.
OKpYyXeHHe Hpy3esa. Jom. Tlpodeccns. Pabota. [TyTemecteus.
Wunycrpus otasixa. Jocyr. MaTepecst ynedenus. Xo66n.
CriopT ¥ CIOPTHBHAS JKU3HB.
O6pasoBanue ¥ VuusepcureT. Conmonorus obpazoranus. Tpamuimu
HayKa obpa3oeaHus B CTpaHax u3y4yaemMoro a3kka i Kasaxcrana.
bubmuorexa. Hayunas pabota. [lestem nayxu. buorpagus.
Oxonorudeckas KyabTypa. TeXHITeCKui Mporpece u
rnoGaNsHEE TPoOieMbl 9eI0BEIeCTRa.
Kazaxcral u Teorpaduyeckoe momoxxenue. [lorona u xMar.
cTpaHa Oxoromuka. O6pa3 XHU3HEH, HAITMOHANBHEIE CTEPEOTHIIHL U
H3ydaeMOro s3biKa | UPA3IHAKY. Tpazuiymd ¥ QEHHOCTH. SI3BIK M KyJTBTypa.
Hcropust. Tlommtayaeckoe yeTpolcTBo rocynapersa. Cronmua
M ropofia. ApXuTeKTypa o CTPORUTENBCTBO.
Cpencrsa MaccoBoit mEhOpMaIHH.
KommyHukaTEBHEO- | KOMMYHHKATHBHO-IIOBEIEHIECKAE CTAHAAPTE IIOBE/IEHNS.
opuenTHpoBanHple | CHTYALMH, CBA3AHHBIE C COLHUATbHO-GLITOBOM chepol
CHTYAIHH obmenusi.
Curyanun, CBI3aHHbIE C COHHATHHO-KYIETYPHREIMH HOPMaMH
IIOBEJICHAS.




Curyanuy, CBA3aHHBIE C COLMANBHO-TIOATHYIECKOH chepoit
obmenrus. 5
CHTyamnny, CBA3aHHEIE C HAYYHO-TPO(eCCHOHAIBHOA 1
HpPOH3BOACTBEHHOM chepamy OO IEHIAMH.

JlekcuKo-rpaMMaTHYeCKHH TecT

TpomepseTcs ypoBeHb BiafeHus Haubolee yNOTPEOHTENBHOH IPAMMATHKON
¥ OCHOBHEIMH I'DAMMATHUECKAMH SBICHISIME, 3HaHue Ga30BOM JIEKCHKA & TaKKe
OCHOBHYIO TEPMHHONIOTHIO cBOell INHpOKoH H Y3KOH CHELHANEHOCTH.

1. Vims cyImecTBRTENRHOE.

1.1. | MHOXecTReHHO®E TUCIO CYIIECTBUTENBHBIX

1.2, | lpuTsXaTelsHbIH HafeK MMEHH CYIIeCTBUTENIEHOTO

2 AptaKIb (OIpeAeNeHHbl}, HeOnpe/IeNeHHbIR)
3 Mecronmenue

4. YycnutenbHoe

S [naron. BugoBpemensnsle GopME! rnarong

5.1. | Cornacosanve BpeMeH
5.2. | AXTHBHBIH U DaCCHBHBIN 3aJIOT.
5.3. | MopanpHBIE TIarost
5.4, | CtpajmaTenpHBIHN 32707
6 Henwansie bopMEl riiaronos
6.1. | puuactue
6.2. | MadurnTUB
6.3. | Tepynmuit

7. Vimsa TIpunaratensuoe
7.1 | CrenenH cpaBHeHus
8 Hapeune

9. Tlpepnorn
10. | Corozsl
11. | ITlpsmasg u KocBeHnHas peus
12. | VcioBHBIE IPeIUIOKeHus!
13. | Cnoxasle npemioxKenss
14. | CnoBoobpasoBanue. MexanusMel ¢10B000pazoBasus.
15. | Jlexcuyeck sBIeHHS. AHTOHWUMEL, CHHOHMMEI, OMOHHMEL.
151 CrunucTrgeckyil HefiTpanEHas TeKCHKa, OTHOCHIAsACH K 00meMy
S3BIKY.
15.2 | OcHOBHBIE TePMHHEI MIHPOKOH crermansrocT. O6IeHaydHas TEKCHKa.
153 CouyeraeMocTs ciros. HegmmoMarugeckas (Jlorwgeckadt) 4
HIMOMATHIECKA] COYETaEMOCTH CJIOB.

15.4 VcroHunBhie BRIPaKEHMA: HanGollee paclpOCTpaHeHHBIE PA3TOBOPHEIE
' (hopMyIR-KIHIIe,

16. | Hopsanok ci10B B npeioxeHuy

17. | Crpa"oBepeHne ’

18. | CoryacaTelbHOE HaKIOHEHHE.




Yrenue

IIpennaraercs 4 Texcra

Llensro npencTaBleHHBIX TECTOBBIX 3aJaHWH JUIA YTCHHS ABILIETCS: H3BIICUEHHE
3agagHore ofseMa HHOOpMaLMM, NOHMMAaHHE COAEPXAHMA PAa3HO J>KAHPOBEIX
TEKCTOB, B TOM HHCIIE ITyOIMIMCTHIECKKX cTaTell, yCTaHaBIMBATE HX JOTHYECKYIO
TIOCIIEI0BATEIbHOCTE.

Poncteennbie cBazy. CeMbs M MEHHOCTH ceMEHHOM JKA3HY,
Yenosex 4 ero| Hpyses. Jowm. [Ipodeccus. Pabora. Ilyremectsns. MHxycrpus

okpyxerue | oTapxa. Jlocyr. MiHTepece ypiederus. Xo66u. Criopt u
CIIOPTHBHAS JKHU3Hb.

VuusepcuteT. Cormonorus obpazosanns. Tpaauuun o6pa3zoBaHia
B CTpaHax M3ydaeMoro a3blka ¥ Kazaxcrana. bubmuorexa.
Haygnas pabora. Jestenu Hayxy. Buorpadus. Oxomoruyeckas
kyneTypa. Texuuueckuii nporpecc U riuodanpHele TpobieMst
YeNIOBEYECTRA.

O6pazoBanue
A Hayka

I'eorpadugeckoe nonoxenue. Ilorona u xnuMar. DKOHOMUKA.

Kazaxcrad 1 | O6pa3 »KU3HYM, HAIMOHAIBHEIE CTEPEOTHIIL B IIPa3/THUKH.
cTpaHa Tpaguuun u neHsocTH. S3EIK U KynbTypa. Meropus.

uzyqaemoro | [lommruyeckoe ycrpoiictso rocypapcrsa. CTONMIIA H TOpoja.
A3bIKA ApDXHTEKTypa U CTPOMTENECTEO.

CpencTBa MaccoBol MHPOpMAIHH.

KoMMYHHKATUBHO-IIOBE JEHIECKHE CTAHAAPTHI [IOBEICHHA.
Curyamun, cBs3aHHEIE ¢ CONUANBHO-OBITOBOH cepoii obmerns.
CuTyanuy, CBAZaHHEIE C COLUAIBHO-KYIBTYPHRIME HOPMaMH
MIOBEJICHUA.

CHuTyanuy, CBs3aHHbIE C COLNANBHO-ITOMUTHYECKOH chepoii
obmenzs. CHTyaluH, CBI3aHHbIe ¢ HAYIHO-TIPO(ECCHORATBHON 1
IpOU3BOACTBeHHOH cepamu obnIeHHIMHE.

KoMmynuxatn
BHO-
OpHEHTHPOBaH
HBIE CHTYAI[UH




5. ILnan Tecra:

1. Aymaposanue — 20 TecTOBBIX 3aaHM# (0 5 K XKaXxxoMy Tekcry). K 3anagam
cpenqHell TPy JHOCTH OTHOCATCS 10 3amanui, X IETKUM — 5 3aaHuH, K
TPYOHBIM — 5 3alaHuH.

2. JlexcHKo-rpaMMaTIIecKui TecT - 50 TecTOBBIX 3ananuit. K 3anavam cpeHelt
TpyAHOCTH oTHOCsTCA 30 3amaBmid, K erkum — 10 3ajanwuii, K TPYAHBIM — 10

3a/IaHuH.
KosnuecTso 3agjannil
Tembl | Copepxcanme B OJHOM BapHaHTe
1. HMsa cymecTBHTEIbHOE 3
2, Apruxip 3
3. MecronMenue 3
4. YncimtensHOe 3
5. I'naron 3
6 Henmgueie GopMbl I1arosos 3
7. Hms npunararensHoe. CTeneHy cpaBHEHMS. 3
8. Hapeune 3
9. Ipemnora 3
10. | Cotosnt 3
11. I1pstvas 1 Kocsernas pevs 3
12. YcIoBHEIE HpeIOKeHUA 3
13. Croxusle IpefOXeHHsA 3
14 CrnosoobpazoBarue. MexaHu3Me!
) CNIOBOOOPazOBAHMA. 3
1. Jlexcuyecku sBIeHHS. AHTOHUMBIL,
CHHOHHUMBbI, OMOHMMBI. 2
16. Topsanox cIoB B IPEAIOKEHIH 2
17. Crpanosenenue 2
18. Cornacurensnoe HAKIOHEHHE, 2
Bcero - 50

3. Urenwue - 30 tecToBbIX 3afaHuii. K 3anauam cpenHeit TpyIHOCTH OTHOCATCA - 14
3aJaHui, K TeTKuM — 8 3alaHuH, K TPYAHEIM ~ & 3aj1aHMit.

6. XapaKTePHCTHKA COXEPKANUS 3212 BMH:
TectoBble 3amakus Ui MPOBENEHNUs BCTYIHTENLHBIX K3aMEHOB B MArkCTPaTypy
IO AHTTHHACKOMY S3BIKY IIO3BOISIOT OUPENCNHTh YPOBEHb KOMMYHWUKATHBHOH
KOMIIETCHIIMY TECTHPYEMOr0, a HMMEHHO IIPOBEPSIOT HAaBBHIKH ayJupOBaHHA,
YPOBEHb BIaJeHMA TPAMMATHKOH, JIGKCHKOH AaHITIMHCKOrO f3bIKa, HaBBIKH ¥
YMEHHA ITCHHS C OENBI0 U3BIeUeHHA TpebyeMoii nHdopmanm.

7. XapaKTepHCTHKA OTBETOB K K2XKAOMY 3aJaHHIO:
Bce 3aaHus npesicTaBNeHH! B 3aKphITol GopMe.



Kaxpoe sagasme uMeeT eAMHCTBEHHO IPaBHIBHLIM BapHaHT OTBETa, KOTOPHIH
COOTHOCHTCS C ARCTPAKTOPHEIMH (TIPOBOLMPYIONIUMH) BAPHAHTaMHK OTBETOB.

8. HueTpyknun k tecty:
Brifop omHOTO 0TBETA U3 HATY IPEITOKEHHBIX.
WHcTpyKius: 3aKpacuTh KPYXKOK C BaPUAHTOM ITPaBHIIBHOIO OTBETA.

9. BpeMs BBINOTHEHHSE TECTA:
OG6imee BpeMs BBIIOIHEHHS Beero tecTa — 180 MuHyT.
BpeMs BHINONHEHMS TECTa Ha CIIyIIaHne — 45 MAHYT.
BpeMsi BEIIOHEHM S JIEKCAKO-IPaMMAaTHIECKOTO TecTa - 75 MUHYT.
BpeMs BEITONHEHN T€CTa Ha YTeHue — 60 MuHyT.
Cpenree BpeMs BLINOMHEHHS OTHOTO 3afanus: 1-2 MHHYTHL.
KommgecTso 3afaHuil B 0fHOM BapHante TecTa — 100 3azanuii.

10. Onenky 3a BHINOJTHEHME 33 AHHMN:
3a Kax bl paBHIbHEIA OTBET IpHACYXAaeTcs 1 6an, Bo BCeX OCTANBHBIX
ciy4aix — 0.

11. OnpepesinemMblie XapaKTePHCTHKH Ka4ecTBa 3aJaRmii:
Onpenensgercs TPYOHOCTS 3afianrii B % HpaBUILHBIX OTBETOB.

12. OxxngaemMbie pe3yILTATH TECTOBBIX 3aMaHMIl:
HopMaruBHO-OpHEeHTHPOBAHHAA HHTEPNIPETAIHS IIPH KOHKYPCHOM 0T6Ope.



Bapuant 0001

Aynuposanve
Text 1

1. What did she want to become?
A) a translator.
B) a journalist.
C) a teacher.
D) a writer.
E) a doctor.
2. How old was Blackwell when she emigrated to New York City?
A) 10.
B) 54.
C) 2s.
D) 16.
E)18.
3. When was she born?
A)in 1821
B)in 1857.
C) in 1849.
D)in 1841,
E)in 1921
4. How did she pay for her tuition?
A) She gave music lessons.
B) Her brother helped her.
C) She taught English.
D) She worked at the factory.
E) She worked in hospital.
5. What century did she live?
A) the nineteenth century
B) the seventeenth century
C) the ninetieth century
D) the ninth century
E) the eighteenth century

AymupoBadne

10



Bapnant 0001 Aynupopanne

Text2

6. After the concert the instruments are turned into ...
A) national Vienna dish
B) some special dish
C) soup
D) stew
E) salad
7. The vegetables in Britain tend to be... than in Vienna
A) tastier
B) fresher
C) larger
D) chipper
E) more expensive
8. What conditions are needed for producing vegetable instruments?
A) humid
B) not any special
C) dry
D) central heating
E) sunny
9. This text is about...
A) Old Classical orchestra
B) Food orchestra
C) Fruit orchestra
D) Modern orchestra
E) Vegetable orchestra
10. When do they make their instruments?
A) a month before the concert
B) 30 minutes before the concerts
C) an hour before the concert
D) a week before the concert
E) a day before the concert

11



Bapnart 0001 AynApoBanHe

Text 3

11. One fellow visitor said that meeting with the dolphins ...
A) changed her profession
B) helped to solve some problems
C) influenced her attitude to animals
D) was a nice activity
E) made her look at her life in a different way
12. How much does the dolphin hug cost?
A)$ 13 for 10 minutes
B) $30 for half an hour
C) 85 for 5 minutes
D) $135 for 30 minutes
E) $100 for an hour
13. Where did the speaker find the Dolphin Quest?
A) In Australia
B) On the island Crete
C) In the South of America
D) On the Island of Bermuda
E) In northern India
14, Hugging a dolphin is an excellent activity...
A) to become kind
B) to become a good swimmer
C) to understand animals
D) to lower the stress levels
E) to increase your knowledge
15. There is a proper protoco! for ... a dolphin.
A) going with
B) feeding
C) visiting
D) meeting
E) watching

12



Bapuant 0001 AynupoBaHne

Text 4

16. Anita Roddick is the founder of...
A) Fitness Shop
B) Good shape shop
C) Big Supermarket
D) The Body Shop
E) Sport shop
17. At the programm she appeared with her...
A) colleague
B) daughter
C) sister
D) husband
E) mother
18. In our modern world of fast communications and busy urban lifestyles, 1
concluded, we seem to have lost
A) to be negative
B) to be positive
C) the art of kindness
D) to be silent
E) to be healthy
19. When she was dressed as an old woman people...
A) felt pity for her
B) helped her
C) greeted her
D) didn’t notice her
E) addressed her with the questions
20. The word “elders” denotes ...
A) talent
B) wisdom
C) age
D) position
E) state

TECT IO BJIOKY Ayauposanue
3ABEPHIEH

13



Bapuant 0001 JlekcuKO-rpaMMaTHYECKHH TecT

Jlexenko-rpaMmmaTnueckui TeCT

1. Mary has never been to London, ___ she?
A) has
B) did
C)is
D) hasn’t
E) didn’t
2. Choose the correct answer.
We have dinner in the restaurant.
A) Are not.
B) Do not.
C) Does not.
D) Is not.
E) Am not.
3. We....sightseeing tomorrow.
A) goes
B) gone
C) will goes
D) will go
E) did not go
4. People said he actually ... there but nobody ... ... him.
A) lived; see
B) lived; had seen
C) lived; is seen
D) had lived; seen
E) lives; have seen
5. Steve Ann the other day?
A)Is, seen
B) Shall, see
C) Did, see
D) Has, seen
E) Does, see
6. Choose the right form of the verb be:
There ...(be) a school here in 1990,
A) Has been.
B) Are.
O)Is.
D) Were.
E) Was.

14



BapsagrT 0001 JIeKCHKO-rpAMMATHYECKHH TeCT

7. Choose the correct variant:
They can’t have more strawberries. [ want to make jam.
A) any, any
B) some, any
C) no, any
D) any, some
E) no, some
8. Choose the correct variant:
1 had very ... friends at the University.
A) little
B) much
C) alittle
D) few
E) more
9. Fill in prepositions.
Look — picture — page 25
A) At, on
B) In, at
C)On, on
D) At,in
E)In, at
10. Choose the correct variant:
We were very tired. We went all the way ... foot.
A) By.
B)In. .-
C) With.
D) At.
E) On.
11. Paterson was angry ____ his friend and threw a book at him.
A) about
B)at
C) with
D)on
E)in
12. Choose the right preposition;
The button has come ... my coat.
A)Of
B)In
C) On
D) Into
E) Off

15



Bapnasr 0001

13. Give the antonym:
Work
A) Relax.
B) Travel.
C) Walk.
D) Move.
E) Meet.
14. Give the antonym:
Together
A) Double.
B) Alone.
C) Swim.
D) Slow.
E) Both.

15. Choose the right synonym to the given word:

to arrive
A)To go.
B) To sit.
C) To enter.
D) To come.
E) To buy.
16. Choose the antonym to the word:
Slow
A) Slim.
B) Fast.
C) Quite.
D) Hard.
E) Quit.
17. Choose the right variant:
IsJohn __ Paul? No, I don't think so.
A) More taller than.
B) Taller than.
C) As tall.
D) So tall as.
E) Tall like.
18. Choose the right variant:
He comes home very ... .
A) Latest
B) The latest
C) Late
D) Lately
E) Later

JlexkcHKO-TpaMMaTHIECKHH TECT
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19. Choose the correct answer:
Scientists claim that oil pollution isnow ......... cause of death among sea
birds.
A) The most common
B) The common
C) The commoner
D) Commonest
E) The more common
20. The damage from the rain could be.....
A) bader
B) more bad
C) best
D) worse
E) baddest
21. This bank of the river isn’t that one.
A) s0 beautiful
B) more beautiful
C) so beautiful as
D) beautiful
E) not so beautiful as
22. They raised the money simply ... for it. It was easy.
A) asked
B) of asking
C) with asking
D) asking
E) by asking
23. Complete the sentence:
He began ... plays at an early age.
A) Having written.
B) Write.
C) Written.
D) Writing.
E) Wrote.
24. Choose the correct variant:
A) mices
B) mise
C) mice
D) mouses
E) mousees

5353
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25. Choose the right variant:
He will be the first __ and the last fo go.
A) Came.
B) Comes.
C) Come.
D) To come.
E) Coming.
26. Find the right variant:

JlexCHKO-rPaMMaTHYECKHA TECT

... to St. Petersburg he at first went to see the most popular places of interest.

A) Having arrived.

B) To arriving,

C) Have arriving.

D) Arrived.

E) Arrive.
27. They sell a variety of ...

A) cheese

B) cheeseses

C) cheeses

D) cheeses’

E) cheese’s
28. Please forgive me. I didn’t mean........... you.

A) being upset

B) to upset

C) upset

D) upsetting

E) to be upset
29. Choose the right variant:

My brother is in Antalya on vacation, but I wish he
he could help me repair my car.

A) have been

B) were

C)is

D) would be

E) had been
30. Choose the correct article
I think she needs ... vitamins for better recovery.
A)--
B) To
OA
D) The
E) An

here now so that
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31. Choose the right form of the verbs:
If you wore your new suit, you ... smart.
A) Look.
B) Looked.
C) Would have looked.
D) Will look.
E) Would look.

32. “Don’t swim too far, dear”, — asked Dad.
A) Dad asked him he wouldn’t swim too far.
B) Dad asked him not swinming too far.

C) Dad asked him he hasn’t to swim too far.

D) Dad asked him don’t swim too far.

E) Dad asked him not to swim too far.
33.1like playing volleyball on.....beach

A)or

B) these

Cyan

D)-

E)a

34. She asked my advice subject she should study at university.
A) On to what
B) To what is
{7y Off what
D) for what
£) As to what

35, I’'m not tired enough to go to bed vet. I wouldn’t sleep if { to bed now.
A) Go
B) Had gone
C) Went
D) Would go
E) gone

36. Choose the correct variant:

Why ... your clothes so dirty?
A) Are.
B) Be.
C) Was.
D) Am.
E)ls.
37. Complete the sentence:
My mother told me ..... more quietly.
A) Talked
B) If I will talk
C) If I would talk
D) To have talked
E) To talk

19



Bapuant 0001 JleKCHKG-TpaMMaTHIECK#H TeCT

38.If1 a more reliable car, I to Spain rather than fly.
A) Had, would drive
B) Had, drove
C) Had, had driven
D) Would have had, would drive
E) Would have, would drive
39. Complete the question:
Mother is at home,... ?
A) Aren't she.
B) Doesn't she.
C) Isn't she.
D) Wasn't she.
E) Hasn't she.
40. The signal was given, and the steamer .....slowly from the dock
A) has been moved
B) moved
C) have been moved
D) had been moved
E) moving
41. Ishall go there tomorrow ....I am too busy.
A) unless
B)if
C) and
D) until
E) but
42. Complete the sentence:
____ theroom!
A) Not to go in.
B) Don't going to.
C) Don't go into.
D) Not go into.
E) Won't go.
43. Tom ... towards the door.
A) ran quickly
B) quickly rans
C) running quicker
D) quickly have ran
E) quick ran
44. 'l do it...you told me
A) unless
B) lest
C)as
D) such
E)if

it}
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45.1 can’t understand. Would you ask him to speak.....?
A) a clearly
B) more clearly
C) clear
D) the clearly
E) most clearly
46, Peter sang.....than all the others.
A) older
B) best
C)-
D) louder
E) the best
47. Terry has a refreshing ... approach to management. He’s much less concerned
with theory than with getting things done in the most efficient way possible.
A) round-the-earth
B) step-by-earth
C) larger-than-earth
D) middle-of-the-earth
E) down-to-earth
48. ....sentence is difficult for me to translate.
A) the one
B) the first
C) once
D) a first
E) first
49, All children in the UK are offered vaccinations against key diseases as part of
the national child-  immunization schedule.
A) - ful
B) ~ ment
C)—hood
D) - ance
E) - dom
5Q. .....of people came to the concert.
A) Thousand’s
B) a thousands
C) Thousandth
D) Thousands
E) the thousands
JIeKCcUKO-rpaMMaTH4ECKHH TecT
3ABEPIIEH
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Yrenne

Text 1
For Love or Money

Sports are one of the world’s largest industries, and most athletes are
professionals who are well paid for their efforts. Because an athlete succeeds by
achievement only — not by economic background or family connections — sports can
be a fast route to wealth, and many athletes play more for money than for love.

This has not always been true. In the ancient Olympics the winner got only 2
wreath of olive leaves. Even though the winners became national heroes, the games
became amateur for centuries. Athletes won fame, but no money. As time passgd,
however, the contests became increasingly less amateur and cities began to hire
athletes to represent them. By the fourth century A.D., the Olympics were ruined, and
they were soon ended.

In 1896, the Olympics games were revived with the same goal of pure amateur
- competition. The rules bar athletes who have ever received a $50 prize or an athletic

scholarship, or who have spent four weeks in a training camp. At least one competitor
in the 1896 met all these qualifications. He was Spiridon Loues, a water carrier who
won the marathon race. After the race, a rich Athenian offered him anything he
wanted. A true amateur, Loues accepted only a cart and a horse. Then he gave up
running forever. But Loues was an exception and now, as the Chairman of the
German Olympic Committee said, “Nobody pays any attention to these rules”. Many
countries pay their athletes to train year round, and Olympic contestants are eager to
sell their names to companies that make everything from ski equipment to breakfast
cereals.

Even the games themselves have become a huge business. Countries fight to
hold the Olympics not only for honor, but for money. The 1972 games in Munich
cost the Germans 545 million dollars, but by selling medal symbols, TV rights, food,
drink, hotel rooms, and souvenirs, they managed to make a profit. Appropriately, the

symbol of victory in the Olympic Games is no longer a simple olive wreath — it isa
gold medal.

1. How many weeks were required to spend in a training camp?
A) four weeks

B) two weeks
C) six weeks
D) three weeks
E) five weeks
2. Why can you call Spiridon Loues a true amateur?
A) he accepted only flowers
B) he accepted a palace
C) he accepted only a cart and a horse
D) he accepted two carts
E) he accepted only money
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3. What rewards could ancient Greek athletes expect?
A) jewel
B) gold medal
C) abunch of roses.
D) a wreath of olive leaves
E) money
4. Why did the cities begin to hire athletes...?
A) to represent them in the Olympics
B) to sing songs
C) to play in the theatre
D) to sell goods
E) to write books
5. Many athletes play more for ... than for love.
A) people
B) money
C) fun
D) joy
E) team spirit
6. What was Spiridon Loues’s occupation?
A) a water carrier
B) a baker
C) a butcher
D) a postman
E) a wrestler
7. When were the Olympic Games revived?
A) 1796
B) 1996
C) 1696
D) 1596
E) 1896
8. According to the text. What do countries fight for?
A) to hold the Olympics for duty
B) to hold the Olympics for fame
C) to hold the Olympics for entertainment
D) to hold the Olympics not only for honour but for money
E) to hold the Olympics for records

. Hrenne
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Text 2

North American species of swans

Swans are among the most beautifu! of North American waterfowl and ha\fe
always enjoyed the admiration and even the protection of bird lovers. Of the six
species in the swan genus, only two are native to North America. The trumpeter
swan, the largest of the group, breeds in the northern United States and Alaska,
and was nearly wiped out during the nineteenth century craze for elaborately
feathered hats. The whistling swan, which winters in large flocks on the Chesapeake
Bay has recently been renamed the tundra swan because it breeds and summers on
the northernmost tundra regions of the continent.

Recently, populations of mute swans—an exotic species introduced to North.
Amerjca from Europe in the early 1900s — have begun increasing by an alarming
30 to 40 percent annually in some states. Most wildlife biologists today believe the
majestic white creatures, with their tendency to destroy a pond's plant life and drive
away native waterfowl, might create havoc on the scale of the gypsy moth, starling,
or English sparrow.

Both native species of swans are wild and require large areas of uninhabited
summer ground for nesting and feeding. Mutes, however, semi-domesticated and
accustomed to people, can nest in pairs of as many as three or four on one small
coastal pond, which can burden delicate and environmentally essential brackish
waters. Furthermore, mute swans usually form lifelong pair bonds and after selecting
a pond, they make it their permanent home. Wildlife reserve managers have had little

success in relocating mute swans to different ponds after the pair has established
itself in one location.

9. The author states that the native species of swans can live best
A) In close contact with people.

B) In unpopulated areas.
C) In the southern part of the United States.
D} In a similar habitat to mute swans.
E) Everywhere.
10. Which swan was close to extinction?
A) The mute swan.
B) All swans.
() The tundra swan.
D) The trumpeter swan.
E) The whistling swan.
11. The word "it" in line 20 refers to
A) A whistling swan.
B) A tundra swan.
C) A mute swan.
D) A pond.
E) A summer.
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12. The phrase "wiped out" in line 5 is closest in meaning to
A) Cleaned up.
B) Admired.
C) Miscalculated.
D) Misunderstood.
E) Killed off.
13. Where do the whistling swans spend winters?
A) England.
B) Lake Ontario.
C) Lake Michigan.
D) Chicago.
E) Chesapeake Bay.
14. Who is observing the mute swans location?
A) wildlife ecologists
B) wildlife biologists
C) wildlife reserve managers
D) people
E) environmentalists
15. According to the author swans can do harm to the
A) The swallow.
B) The stork.
C) The butterfly.
D) The squirrel.
E) The starling.
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Text3

The Tower of London
The River Thames is the main approach to London from the east. 900 years ago
William the Congueror decided to build a strong fortress to protect the City of
London, which he had just conquered.

The Tower of London was one of the first and most impressive castles built
after the Norman invasion to England in 1066. King William saw that London was 2
key trading port. He built this fortress on the south-east corner of the city to protect
the approaches, and to impress the conquered citizens.

The White Tower, built in 1078 was the central keep or inner fortress. This was
the headquarters. In the basement there were dungeons for prisoners. The entrance
was above ground level, so that if the fortress was besieged, the defenders could burn
the wooden staircase and stdp access to the upper level. Here there were built a
chapel for the King and court, banqueting rooms, and a chamber for the King’s
Council to administer justice. Now there is a superb museum of armory, but it still
has the atmosphere of a grim Norman fortress.

Since the time of William I (1027-1087), various Kings have built and extended
the Tower of London, and used it for many purposes. In its 900 years, the Tower has
been used as a royal palace, an observatory, an arsenal, a state prison, a place of
execution and a museum. Today under tight security, the Crown jewels, the finest
gems of the nation, are kept here.

The Tower of London is still a royal palace, and it sticks to many old traditions.
Every evening, at 21.40, the “Ceremony of the Keys” takes place. The ceremony has
taken place every evening for centuries without break. The Guard is lined up inside
the Tower by the Byword Tower gate. The Yeoman Warder retumns from the outside
gates with the keys. He is challenged: “Halt, who goes there?” and he answers: “The

keys”. “Whose keys?” And he replies again: “The Queen’s keys”. The ceremony
symbolizes that the fortress still belongs to the monarch.

16. For many years the Tower has been used as ... .
A) Hotel.

B) Supermarket.

C) Gallery.

D) Place of execution.
E) Sports class.

17. What is the main approach to London from the East?
A) City.
B) The White Tower.
C) The Tower of London.
D) The River Thames.
E) The Crown jewels.
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18. The strong fortress was built ... .
A) To protect the City of London.
B) To enclose the City.

C) To decorate it.
D) To be a place of interest.
E) To impress his friends.

19. Why did the defenders burn the wooden staircase?

A) To see the city.
B) To stop access to the upper level.
C) To build a new one.
D) To change it.
E) To protect the city.
20. There were dungeons for ... .
A) Defenders.
B) Prisoners.
C) Soldiers.
D) Officials.
E) Citizens.

21. Dungeons for prisoners were ... .
A) In the basement.

B) On the first floor.
C) In the chimney.

D) On the second floor.
E) In the ground floor.

22. What is the Tower of London now?
A) Living accommodation.

B) Royal palace.
C) Prison.
D) Museum.
E) Banqueting rooms.

UYrenue
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Text 4
The last candidate.

The entrance examinations at one of the Moscow drama schools were almost
over. Many young girls and boys had already given their performances. The _famous
actors who were examining were already so tired that it was not easy to impress
them. Therefore when they saw the last candidate appear on the stage they only
wanted him to finish his performance as quickly as possible.

Indeed the boy’s acting made a poor impression on the teachers. It was clear he
was not talented. His face couldn’t attract the audience, only his smile was rathf:r
pleasant.  The Director of the school stopped the young man who was still
performing something.

The boy understood everything at once. «I haven’t passed my examination, have
1? » he asked. «I am sorry to say not, » answered the Director of the school. «You see
it is not enough to know a few poems and entertaining songs. An actor must act. To
act is to turn into another person on the stage, but I’ m afraid you can’t do it. »

On his way home the Director remembered how the boy was criticized for his
performance and felt sorry for him. But he always told him the truth.

The next day when the Director was about to finish work he saw a late visitor
come into the office. The stranger was an elderly woman who was wearing old hat
and very thick glasses. Her face was very serious and she looked concerned about
something. She said she wanted to talk to the Director about her son.

« 1 am the mother of the boy who didn’t pass the examination». The case was
difficult but still the Director wanted the woman to hear the truth about her son. As
soon as she stopped he began: « You see, an actor must act. To be an actor is to turn
into another person! » He hadn’t finished his sentence. The «old lady» took off her
hat and the glasses and smiled.

It took the Director a minute to remember where he had seen the boy’s face.

23. What happened the next day?
A) The Director retired.
B) The theatre was burning.
C) The Director went on leave.
D) A late visitor came into the office.
E) The Director left his work.
24. How did the elderly woman look like?
A) Happy.
B) Concerned.
C) Afraid.
D) Cheerful.
E) Angry.
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25. What was the case, to the Director’s mind?
A) Easy.
B) Funny.
C) Difficult.
D) Involved.
E) Pleasant.
26. Why didn’t the Director finish his phrase?
A) He began to cough.
B) He had died.
C) He had recognized the boy.
D) He was interrupted.
E) She was surprised.
27. What did they want the examiners last candidate to do?
A) Sing a song.
B) Finish his performance as quickly as possible.
C) Leave the school.
D) Dance.
E) Read the poem.
28. Who was examining young boys and girls?
A) The famous actors.
B) The teacher.
() The secretary.
D) The audience.
E) The bead of the country.
29. The boy was:
A) Appreciated by the Director
B) Expelled by the Director
C) Offended by the Director
D) Criticized by the Director
E) Beaten by the Director
30. What did the Director answer to the old woman?
A) An actor must act.
B) Life is life.
C) Her son is very talented.
D) Actor is a very difficult profession.
E) Her son was a good actor.

TECT IO BJOKY Yrenue
3ABEPHIEH
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Aynuposanue
Text 1

. Why couldn’t Elizabeth Blackwell realize her dream of becoming a surgeon?
A) She decided to further her education in Paris.
B) A serious eye infection halted her quest.
C) It was difficult for her to start a practice in the United States.
D) She changed her mind to be a surgeon in her third year of medical school.
E) She couldn’t get admitted to medical school.
2. Where was Elizabeth Blackwell born?
A) in Philadelphia.
B) in France.
C) in the USA.
D) In New York City.
E) in England.
3. What fact impeded Elizabeth to become a doctor?
A) She wrote too many letters.
B) She was a woman.
C) She couldn’t graduate from medical school.
D) She couldn’t establish her hospital.
E) She didn’t have enough knowledge and experience to become a doctor.
4. What century did she live?
A) the ninth century
B) the seventeenth century
C) the nineteenth century
D) the ninetieth century
E) the eighteenth century
5. How old was Blackwell when she emigrated to New York City?
A) 54,
B) 18.
C) 16.
D) 10.
E) 25.

[~y
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Text2

6. The vegetable instruments are used ..,
A) only once
B) twice
C) during 1 summer
D) for a long time
E) during a month

7. How many vegetables do they use for one concert?
A) more than 50 kilos
B) not many
C)alotof
D) 40 kilos
E) about 10 kilos

- 8. Henley Music Festival takes place...

A) InRussia
B) in Germany
C) In Great Britain
D) in the USA
E) in Vienna

9. The Henley Music Festival takes place in ...
A) Spring
B) September
C) July
D) All the answers are wrong
E) February

10. What is the easiest instrument made from vegetables according to the text?
A) drums )
B) all the instruments are easy to produce
C) flute
D) a guitar
E) violin
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Text 3

11. The question about dolphins was raised in...
A) talk-show “Our world”
B) news programme
C) Magazine about wild animals
D) Travel programme
E) Newspaper
12. The dolphins jump, whistle and click ...
A) to attract your attention
B) to start swimming with visitors
C) to show their attitude to you
D) to ask for food
E) to threaten you
13. Even cynical person would be hard pressed ...
A) not to play with the dolphins
B) not to swim with the dolphins
C) not the watch that
D) not to appreciate these animals
E) not to visit that place
14. You can get close to the dolphins even if you are not ...
A) a runner
B) a doctor
C) a biologist
D) a newcomer
E) a swimmer
15. Where is the platform for watching the dolphins situated?
A) above the water
B) near the water
C) far from the water
D) just under the water
E) on the bridge
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Text 4

16. In what country are old people treated with more respect in comparison with
Britain?
A) in Sweden
B) in Austria
C) in Australia
D) in Russia
E) in all the countries
17. Crossing the busy road she...
A) acted as if being confused
B) stopped
C) looked around
D) addressed to some person
E) feel down
18. How old is she?
A) more than 70
B) 60
C) 52
D) 22
E) 62
19. What is the problem raised in this text?
A) political situation
B) attitude to disabled people
C) attitude to old people
D) relationships in a family
E) economical situation
20. What company made her to be an old woman ?
A)CNL
B) Discovery Europe
C) TBN
D) Discovery
E) BBC

TECT IO BJIOKY AyaupoBanue
3ABEPHIEH
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JlexcuKko-rpaMmMaTH4eCKH# TeCT

1. Complete the sentence:
| R the symphony many times before.
A) Had heard
B) Have heard
C) Has heard
D) Had being hearing
E) Was been hearing
2. Choose the correct variant:
She ... ... a small girl.
A) Looks like.
B) Look
C) Goes on.
D) Goes about.
E) Look around.
3. Complete the sentence:
My colleague ... an extended family.
A) Has been.
B) Has.
C) Did.
D)1s.
E) Have.
4. Choose the correct answer.
He the work on time if he uses this updated application.
A) Is finish.
B) Finish.
C) Shall finish.
D) Finished.
E) Will finish.
5. Choose the correct form of the verb
He ..... interviewed at the moment.
A) Are,
B) Have been.
C) Are being.
D) Is being.
E) Has been.
6. Unfortunately the train by the time I reached the platform.
A) left
B) had left
C) was leaving
D) leaves
E) has left
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7. Find the correct pronoun.
There aren’t ... fruit-trees in the orchard.
A) Nothing.
B) Any.
C) No.
D) Some.
E) Anything.
8. Whose camera is this? Is it...
A) your’s
B) yours’
C) your
D) yours
E) you
9. The train is standing ... platform 5.
A)at
B) in the
C) on the
D) about
E) by
10. Make the right choice:
Isaw Jack ......... the concert last Saturday.
A) At.
B) By.
C)In.
D) On.
E) For.
11. She has been waiting.....the bus for two hours.
A)up
B)at
C) for
Djon
E)in

12. Choose the word or phrase, which completes the sentence best:

I’1l be on vacation next week.
A) .
B)In.
C) The.
D) At.
E) On
13. Give the antonym of the word: busy
A) Nervous
B) Sure
C) Glad
D) Annoyed
E) Free
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14. Odd one out:
A) voyage
B) travel
C) museum
D) tour
E) journey
15. Choose the similar words to the underlined words
At the beginning of June the village is really fairy like.
A) Till June
B) In late June
C) Before June
D) In previous June
E) In early June
16. She dedicated her life to helping the poor.
A) devoted
B) assigned
C) adjusted
D) prepared
E) begin
17. Choose the correct variant:
John is good at tennis but Richard is
A) Badly.
B) Bad.
C) Better.
D) Good.
E) Well.
18. Choose the right variant:
Sandy’s marks are ..... than mine.
A) Bad.
B) More bad.
C) The worse.
D) The worst.
E) Worse.
19. Give the right equivalent of the following year 1112.
A) Eleven twelve.
B) One hundred eleven and twelve.
C) One thousand one hundred and twelve
D) Eleven hundred and twelve.
E) Eleven hundred.
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20. Choose the right variant:
Sheismuch ...... than her sister.
A) The youngest.
B) The younger.
C) Youngest.
D) Younger.
E} Young.
21. Choose the correct answer.
Peter is in the class.
A) Tall.
B) The tallest.
C) Taler.
D) Tallest.
E) Taller.

22. After .. two days ... about where .. for our holidays, we decided .. anywhere.
A) being spending, being arguing, to go, not to go
B) be spending, be arguing, to go, not to go
C) spenting, arguing, go, not to go
D) spending, arguing, to go, not to go
E) spending, argued, to go, do not to go

23.Hewas..with...and ... ... goods.
A) charged, receiving, selling, stolen
B) charged, received, sold, stolen
C) charged, receive, sold, stealing
D) charge, receive, selling, stolen
E) charging, receiving, selling, stolen

24. Find the uncountable noun.

A} Litre.
B) Doll.
C) Time.
D) Joke.
E) Island.
25. Choose the correct variant:
I felt somebody ... my shoulders.
A) Is patting.
B) Patting.
C) To pat.
D) Has patted.
E) Patted.

26, 1t’s nice ...... work
A) being having finishing
B) had finished
C) to having finished
D) to have finished
E) to have been finished
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27. Thisis a ..... purse.
A) womans’
B) woman’s
C) women
D) women’
E) woman’
28. Where ___ go yesterday?
A) must you
B) can you
C) did you had to
D) did you bave to
E) had you to
29. Choose the right variant:
1 with you, but I had to study.
A) will go
B) Can go
C) may go
D) Must go
E) would have gone
30. Choose the right variant:
Almas has got ..... apple.
A)a
B) some
C) these
D) an
E) those
31. Choose the right variant.
A) If Antony has asked, T would have been able to help.
B) If Antony had asked, I would have been able to help.
C) If Antony asked, I would have been able to help.
D) If Antony had been asked, I would have been able to help.
E) If Antony was asking, I would have been able to help.
32. “Have you heard? Sandra sold her flat and bought a houseboat”. —“...”
A) What did she do?
B) What she did?
C) She what did?
D) Did she what?
E) She does what?
33. She was born in.... small Kazakh village.
A) the
B)-
Ca
D)an
E) some
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34. “Why hasn’t he locked the car door?”- the policeman said
A) The policeman asked why he hasn’t locked the car door.
B) The policeman asked why he hadn’t locked the car door.
C) The policeman asked why he didn’t lock the car door.
D) The policeman asked why hadn’t he locked the car door.
E) The policeman asked why he doesn’t lock the car door.

35. If Iwere you,I ___that coat. It’s much too expensive.

A) Don’t buy

B) Won't buy

C) didn’t buy

D) wouldn’t buy

E) am not going to buy

36. Choose the right variant:

A) Milk and cows there is in the village

B) Milk and cows is in the village

C) There is in the village cows and milk

D) In the village is milk and cow there

E) There is some milk and cows in the village

37. Fill in the gap with the correct variant:

At Woolworth’s first five-and-ten-cent store, ... more than a dime.
A) Neither items cost
B) Some items no cost
C) No item cost
D) Items none costing
E) Items not cost

38.Ifhe __ achance of success,he __ to move to London.
A) Will have, will need
B) Were to have, will need
C) Were to have, would need
D) Will have, would need
E) Will need, would have

39. Choose the right variant:

What ...in your briefcase?

A) There are.

B) There is.

C) Is there.

D) There was.

E) Are there.

40. Fill in the gap with the correct variant:

Do you smoke? Not now, but I

A) Used to.

B) Was used to.

C) Am used to.

D) Use to.

E) Was use to.
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41. 1 shall go there tomorrow ....I am too busy.
A)if
B) unless
C) and
D) but
E) until
42. Choose the word or phrase which completes the sentence best:
Mary has never been to London, she?
A)ls.
B) Hasn't.
C) Has,
D) Did.
E) Didn’t.
43. She’s a good student: she works...... than the others.
A) careful
B) carefulier
C) carefully
D) much carefully
E) more carefully ,
44. 1 will lend you the book..... you will return it on Monday.
A) because
B) until
C) unless
D) as
E) on condition
45. Choose the correct form of the adverb. Nobody can understand his French as he
speaks ...
A) More fluent
B) Fastly
C) Most fast
D) Fast
E) Most fast
46. Choose the correct variant:
He ... for me for 20 minutes at the entrance to the theatre,
A) Has been waiting
B) Has waited
C) Was waiting
D) Waiting
E) Waits
47. On the first day of each month a few of us ... and play ... bowling,
A) get up, ten-pin
B) get out, ten-pin
C) get through, ten-pin
D) get down, tin-pen
E) gather together, ten-pin
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48. OHH pa3pemaloT 0celaTs OOIFHBIX ONUH pa3 B HEJENIO
A) They allow patients one time visit a week
B) They allow to visit patients once a week
C) They allow patients one visit a week
D) They allow patients a one time’s visit a week
E) They allow patients once time visit per week
49. “wood”
A) less
B) ate
Oly
D)en
E) ness
50. .....of people came to the concert.
A) a thousands
B) the thousands
C) Thousand’s
D) Thousandth
E) Thousands

JlekeuKko-rpaMMaTHIECKHH TECT
3ABEPIIEH
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Yrenne

Text 1
Green Madness

The Amazon is the world’s second largest river, almost 4,000 miles long. It
carries water through 35% of South America, feeding the biggest jungle on earth. Not
many settlers have come to the Amazon jungle. Towns there are almost as rare now
as they were 500 years ago. But the land’s wealth of resources has attracted a few
individuals with very big ideas. They dream of changing the forest into towns, farms
and factories. ,

But the risk is great. In the 1920’s, Henry Ford made a very expensive attempt
to create a rubber industry in the Brazilian jungle. It had to be built from nothing,
with materials brought great distances. The project was a complete financial disaster,
and Ford lost his investment. Others bave cleared the land for farming and cattle
ranching, only 1o see fast-growing tropical plants destroy their work.

The biggest and most bizarre Amazonian adventure will try to take advantage
of the area’s wet climate and permanent growing season. Twenty years ago, Daniel
K. Ludwig, a wealthy ship owner, decided that the world was going to run out of
wood and paper in the middle 1980°s. Planning to take advantage of this shortage, he
bought a 3,000,000 acre piece of land in the Amazon, planted fast growing trees, and
started building a factory to produce wood and paper. Now it is nearly {inished.

Ludwig has put over one billion dollars into his investment. He has built roads,
a railway, and an entire town. He bought a paper factory in Japan and paid 275
million dollars to float it on two barges across the ocean to the Amazon. Most of this
money has been from his own pocket, because banks don’t like risks and normally
don’t lend money for sea-going paper mills. And so far, Ludwig hasn’t gotten
anything back. If he is right, and the world price of wood and paper goes up, he will
make a fortune. If he fails, there will probably still be people who will try again to
exploit the Amazon. Its 2, 7 million square miles could hold hundreds of people who
have ideas as big as Ludwig’s.

1. When did Ford start his business?
A) 1620s
B) 1930s
C) 1820s
D) 1720s
E) 1920s
2. The Amazon jungle has attracted. ..
A) archeologists
B) adventures
C) builders with big plans
D) a few individuals with big ideas
E) geologists with big experience
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3. What did Daniel K. Ludwig plant?
A) wheat
B) rye
C) beet-root
D) fast growing trees
E) corn
4. Who bought a 3,000,000 acre piece of land in the Amazon?
A) Daniel K. Ludwig
B) Daniel K. Lendig
C) Jerome K. Ludwig
D) Daniel K. Defoe
E) Jerome Z. Ludwig
5. The project was a complete financial... .
A) disaster
B) investment
C) entertainment
D) achievement
E) success
6. Daniel K. Ludwig was a wealthy... .
A) editor
B) shipowner
C) banker
D) artist
E) landowner
7. What is the length of the Amazon river?
A) 5000 miles
B) 2000 miles
C) 1000 miles
D) 3000 miles
E) 4000 miles
8. How much money was spent to float a paper factory?
A) 255 million dollars
B) 265 million dollars
C) 285 miilion dollars
D) 295 million dollars
E) 275 million dollars
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Text 2

Which is better?

An elephant and a monkey have a quarrel. The elephant is proud because he is strong.

“Look how strong and big I am,” he says. “I can pull a tree down. Can you?”

Now the monkey is proud because he is quick.

“Look how quickly I can run and climb,” he says. “Can you climb the tree?”

At last they decide to go and speak to the Old Bird.

“We cannot agree,” they tell the Old Bird, “tell us what you think about it.
Which is better- to be strong or to be quick?”

The Old Bird says to them: “Do as I tell you and then I'll learn which is better.
Do you see that great tree across the river? Go and get the fruit from it and bring it to
me.”

So they go to the river, but the monkey is afraid of water.

“Get on my back,” says the elephant proudly. “I will carry you. I am big and
strong and I am not afraid to swim across the river.”

There on the bank stands the tree. It is so high that the fruit is far above them.
The elephant tries to pull the tree down, but it is too strong.

“Wait a minute,” says the monkey proudly. “I can climb.”

He runs quickly up the tree and throws the rich fruit to the ground.

The elephant puts it in his great mouth. Then they cross the river again and give
the fruit to the Old Bird.

“Now,” they say, “which is better- to be strong or to be quick?”

“Can anybody tell which is better?” asks the Old Bird. “The elephant can’t get
the fruit alone. The monkey can’t get the fruit alone. But you can get it together. One
of you crosses the river, the other climbs up the tree.”

9. Where does the tree stand?
A) On the bank
B) On the left side of the river
C) Near the sea
D) Near the house
E) In the forest
10. What does the elephant try to pull down?
A) The tree
B) The pine
C) A monkey
D) The fruit
E) The birch
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11. Who has a quarrel?
A) A fox and a monkey
B) A fox
C) An elephant
D) A monkey
E) An elephant and a monkey
12. What is the monkey afraid of?
A) An elephant
B) The river
C) Snow
D) Water
E) Wind
13. What does an elephant put in his great mouth?
A) Tree
B) Fruit
C) Monkey
D) Fish
E) Bird
14. Where does the monkey run quickly?
A) Up the heaven
B) Up the man
C) Up the tree
D) Up the elephant
E) Down the elephant
15. Whom do they give the fruit to?
A) The Mother Bird
B) The Father Bird
C) The Old Bird
D) The God
E) The Bird

Yrenue
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Text 3

London Taxi Driver’s Story

Sometimes people ask me: “What is the strangest thing that has ever happened
to you as a taxi driver?” It’s difficult to answer. But one of the funniest things that
have happened to me is in November, the year of the Great Fog.

Foreigners always think Britain is covered in a blanket of fog every winter from
October to March. It’s not really so. But in November and December we have had
some bad fogs. The first night the fog comes down very suddenly. I am driving
someone from Piccadilly to Richmond. 1 take my usual short way through Richmond
Park. It is a nice place — quite wild, with clumps of big trees, ponds, and herds of
deer. At weekends people go there for picnics, and every morning men go there to
run. They practice for cross-country races. ‘Harriers’, they call them.

Well, we overtake a group of these harriers, running through the park.

“Not my favorite sport”, I say to my passenger.

I leave my passenger at her house and go off for London. Out of habit, I turn
into Richmond Park again. I soon understand that I am wrong. The fog is really thick.
The further 1 drive into the park, the thicker the fog becomes. I switch on my fog
lamp. It doesn’t help much. Suddenly I see something standing on the road in front of
me. I stop. The figure moves away. It is a deer. Then I see another figure on the road.
It stands there in the light of my fog lamp-wearing shorts, a white vest and running
shoes. It is one of the harriers! I stop, the man, coughing, puts his head in the
window: “Terribly sorry! We are lost!”

“Jump in!” I say. “Haven’t I seen you before?”

“There are 15 of us!” he says.

“Oh, well, you’d better not jump in then,” I say.

Now I can see the others - strange figures, jumping up and down to keep warm,
rubbing their arms, coughing.

“Follow me,” I tell them. “I will drive slowly - T know the way out of the park.”

16. Who does the driver see on the road?
A) Boys and girls, walking along the street
B) A young girl, who has lost her way
C) A small boy
D) A group of men, running for cross-country races
E) One of the harriers
17. Where does the driver go after he has left his passenger?
A) He goes to Liverpool
B) He goes to Manchester
C) He goes off for Bristol
D) He goes to London
E) He goes off for London
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18. What do foreigners think about the weather in Britain?
A) It is hot in Britain
B) It is always sunny and windy in Britain
C) Britain is covered in a blanket of fog every winter
D) Britain is covered in a blanket of snow every winter
E) It is rainy all over the year '
19. Why does the harrier stand on the road?
A) He has lost his way
B) The fog is very thick
C) He is waiting for a bus
D) He has lost his glasses
E) He goes for walks
20. Why doesn’t the driver allow men to jump in?
A) Harriers are too noisy
B) He doesn’t like harriers
C) There are a few harriers there
D) There are too many harriers there
E) He is afraid of harriers
21. Why do men go to Richmond Park at weekends?
A) They go there to practise boys for cross-country races
B) They go there to jog
C) They go there for picnics
D) They go there to swim
E) They go there to run for cross-country races
22. How are the men for cross-country races called?
A) Hears
B) Hares
C) Hairs
D) Harrirs
E) Harriers
23. What way out of the situation does the driver suggest?
A) He will drive very fast and the harriers will follow him
B) He will find a vehicle to get to London
C) He will drive slowly and the harriers will follow him
D) He will show them the way to London
E) He will draw the way to London
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Text 4
Mall of America

When the Mall of America opened in Bloomington, Minnesota, in 1992, it
ushered in a new era in American commerce. The largest enclosed shopping center in
the country, the mall contains more than 400 stores, dozens of bars and restaurants -
including one in which a tropical thunderstorm erupts every 20 minutes —and 14
movie theaters. Some visitors rely on electric carts just to navigate the far-flung
corridors.

Minnesota’s steamy summers and frigid winters make climate-controlled
shopping a popular idea with residents. The country’s first enclosed mall opened in
1956 in nearby Edina, Minnesota. However, at only 400,000 square feet, it was tiny
compared with the Mall of America, which sprawls over 4,2 million square feet —
large enough to command its own zip code.

Visitors can do just about anything in the mall, from playing miniature golf ona
bi-level course complete with waterfalls, to getting married at the Chapel of Love,
where the “Mega Wedding” package includes an Elvis impersonator, if needed. The
mall’s centerpiece is the seven-acre Knott’s Camp Snoopy, the country’s largest
indoor theme park. Set amid 30,000 flowering plants, it has been likened to a “rustic
clearing in the Great North Woods,” albeit one with a roller coaster and a three-story
inflated replica of Snoopy. Today the Mall of America. attracts some 38 million

visitors a year, making it a tourist attraction more popular than Disney World and the
Grand Canyon combined. '

24. What kind of enclosed shopping center is the Mall of America
A) The poorest.
B) The largest.
C) The smallest
D) The shortest.
E) The earliest.
25. Where was the Mall of America opened?
A) In Brazilia.
B) In Bioomington.
C) In Birmingham.
D) In Brest.
E) In Badmington.
26. What was the size of the first Mall?
A) 400.000.
B) 400.
C}) 4000.
D) 1400.
E) 40.000.

48



Bapnant 0002 Yrenue

27. How many flowering plants are there in the Mall?
A) 10000.
B) 40000.
C) 30000.
D) 20000.
E}) 50000.
28. What do some visitors use to go through corridors?
A) Trains.
B) Buses.
C) Electric carts.
D) Cars.
E) Trams.
29. What ushered in a new era in American commerce?
A) Restaurants.
B) Mall of America.
C) American jazz.
D) American bars.
E) Cafes.
30. How many movies theaters are there in the Mall?
A)18.
B) 16.
C) 40.
D) 20.
E) 14.

TECT IO BJOKY Yrtenue
3ABEPIIEH
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Aynuporanne

Text 1

—

. Why couldn’t Elizabeth Blackwell realize her dream of becoming a surgeon?
A) It was difficult for her to start a practice in the United States.
B) She changed her mind to be a surgeon in her third year of medical school.
C) She decided to further her education in Paris.
D) A serious eye infection halted her quest.
E) She couldn’t get admitted to medical school.
2. When was she born?
A)in 1841.
B)in 1849.
C)in 1921.
D)in 1857.
E)in 1821.
3. Where was Elizabeth Blackwell born?
A) in Philadelphia.
B) In New York City.
C) in France.
D) in the USA.
E) in England.
4. What fact impeded Elizabeth to become a doctor?
A) She wrote too many letters.
B) She couldn’t graduate from medical school.
C) She couldn’t establish her hospital.
D) She was a woman.
E) She didn’t have enough knowledge and experience to become a doctor.
5. How did she pay for her tuition?
A) She worked at the factory,
B) Her brother helped her.
C) She worked in hospital.
D) She gave music lessons.
E) She taught English.
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Text 2

6. Why is the Orchestra called “Vegetable”?
A) it takes place in the vegetable field
B) there isn’t some special reason
C) all instruments are made from vegetables
D) people come to concert with vegetables
E) musicians like to eat vegetables
7. What is the main concept of this orchestra?
A) all the variants are wrong
B) everybody can play musical instruments
C) you can make sounds with anything
D) you can play music anywhere
E) everybody can make musical instruments
8. Where do people make instruments out of old cars?
A) North America
B) Europe
C) Asia
D) South America
E) Africa
9. This Festival is held for funs of...
A) pop music
B) experimental music
C) folk music
D) classical music
E) rock music
10. In this orchestra a flute is made of...
A) an apple
B) a cucumber
C) a pumpkin
D) a potato
E) a carrot

AynupoBaHue
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Text3

11. You can feed dolphins with ...
A) sweets
B) all the answers are wrong
C) fish
D) some special food
E) peas
12. Dolphins like to...
A) play
B) be loved
C)eat
D) sleep
E) be loved and play
13. What must you give the dolphins when you want to enter their space?
A) hand signals
B) some food
C) their toys for tricks
D) sound signals
E) nothing
14. The skin of dolphins is ...
A) delicate
B) wiry
C) smooth
D) pleasant to touch
E) damp
15. Where is the platform for watching the dolphins situated?
A) just under the water
B) on the bridge
C) near the water
D) above the water
E) far from the water
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Text 4

16. What have we lost in our modern world?
A) all the answers
B) mercy
C) anger
D) kindness
E) money
17. There is a debate in Britain...
A) how to live with old people
B) how to belp old people
C) how to organize treatment for old people
D) how to call old people
E) how to look after old people

18. In modern society people seem to be judged on the basis of ...

A) their occupation
B) their education
C) their economic productivity
D) their profession
E) their inner world
19. How many old people are in Britain?
A) 2 millicn
B) not too much
C) 5 million
D) more than 10 million
E) 20%
20. What was she carrying?
A) two shopping bags
B) a book
C) some big bag
D) keys
E) nothing

TECT IO BJOKY Aynuposanue
3ABEPIIEH
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JlexcHKO-rpaMMaTHIECKHH TeCT

JlekcHKO-rpaMMaTHYeCKHH TecT

1. Choose the correct variant:
1... to meet her in the library today.
A) Had not.
B) Can.
C) Am.
D) Must.
E) Has to.
2. Choose the right variant:
Who ..... Phil with his homework?
A) To help.
B) Does help.
C) Felp.
D) Do help.
E) Helps.
3. Insert the right modal verb.
He ... write this in transcription.
A) Have to
B) Can
C) Must to
Dj) Has
E) OQught
4. Complete the sentence:
you seen the new film yet?
A) Have.
B) Do.
C) Are.
D) Does.
E) Did.
5. Choose the correct verb forms:
These little girls ... when their brothers
A) Like, plays
B) Likes, play
C) Liking, plays
D) Like, play
E) Likes, plays
6. Choose the correct variant:
The news ... so shocking.
A) Have been.
B) Was.
C) Were.
D) Are.
E) Had.

... with them.
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7. Choose the correct variant:
I drink ...... fruit juice.
A) Alotof.
B) Few,
C) A lot.
D) Many.
E) A few.
8. Choose the correct variant:
Do ... know the young man ... name is Patrick?
A) She / whose.
B) You/ that.
C) He / which.
D) They / whom.
E) You/ whose.
9. Choose the suitable preposition.
Gold is similar...... color to brass.
A) To.
B) By.
C)In.
D) At.
E) With.
10. Choose the suitabie preposition.
She used to go shopping ...... Sunday morning,.
A)On.
B) In.
C) With.
D) At.
E) By.
11. Choose the word or phrase which completes the sentence best:
My father has lived in Japan five years.
A) On.
B) At.
C) For.
D) In.
E) Between.
12. Nick’s gone, but he’ll return ... an hour.
A)to
B) by
C) after
D)in
E) near
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13. Choose the antonym to the word:
Work
A) Meet.
B) Travel.
C) Relax.
D) Walk.
E) Move.
14. Choose the suitable answer to the question ‘What do you do?’
A) I'm Helen.
B) I am a doctor.
C) That was terrible.
D) Fine, thanks.
E) I am working.
15. Find the synonym to the word “to choose”
A) To heat. '
B) To believe.
C) To write.
D) To think.
E) To select.
16. Choose the correct answer:
Mr Sandford ... his son is going to London.
A) Tells
B) Tell
C) Says
D) Is saying
E) Say
17. Choose the right variant:
Some people think Russian is ... ... than English.
A) Difficulter,
B) Difficult.
C) Much difficult.
D) Most difficuit.
E) More difficult.
18. Choose the right variant:
She feels very ... today.
A)Bad
B) Worse
C) More badly
D) Badlier
E) Badly
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19. Choose the right variant:
There are ... mistakes in my dictation than in yours.
A) More few
B) Less
C) Few
D) Fewer
E) Little
20. Choose the correct variant:
How do you usually get to the ... underground station?
A)Far.
B) Nearest.
C) Next.
D) Near.
E) Close.
21. Choose the right variant:
Many chemicals react ... in acid solutions.
A) Quicklier.
B) As quickly as.
C) More quick.
D) More quickly.
E) As quickly more.
22. No, don’t worry. I don’t mind for some time.
A) is waiting
B) wait
C) be waited
D) having waited
E) waiting
23. Choose the correct variant:
He makes me
A) Laughing.
B) To be laughing.
C) Have laughed.
D) To laugh.
E) Laugh.
24. Answer the question using the word in brackets:
Whose T-shirt is this? (Andy)
A) Its Andy.
B) It’s Andy’s.
C) They’re Andy’s.
D) Its Andys.
E) It’s Andys.
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25. Choose the right variant:
The accident was seen by some people ... at a bus stop.
A) waiting
B) were waiting
C) waited
D) was waiting
E) who waiting
26. Choose the correct form of the verb.
I remember ...to the mountains with my friends when I was a schoolboy.
A) To go.
B) Went.
C) To be gone.
D) To have gone.
E) Going.
27. There were many ... in the park.
A) deerses
B) deer’s
C) deer
D) deers
E) deers’
28. Choose the right variant:
The ___ sun was hidden by clouds.
A) Rising.
B) Rose.
C) Rises.
D) Risen.
E) Having rised.
29. Complete the sentence:
If T had been able to do what I wanted when I was younger,
everything......... all right.
A) Would be
B) Were
C) Would have been
D) Was
E) Has been
30. Choose the proper article:
Her birthday is on ____first day of spring,
A) The.
B) Its.
C)A.
D) No article.
E) An.
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31. Choose the correct variant:
I cannot excuse you, unless you ... me what the problem is.
A) Say.
B) Tell.
C) Recite.
D) Speak,
E) Talk.
32. Find the incorrect variant:
Bess is used to fly after having crossed the continent many times during the
past decade.
A) Is used
B) To fly
C) Past decade
D) Having crossed
E) Many times
33. Choose the right variant:
Thereis ... apple and ... orange on ... plate
A) The / the / the.
B) The / the/ a.
C) The/an/ the.
D) An/an/ the .
E)An/an/a.
34, “Sayat is living in Astana.” Says Murat.
A) Murat says that in Astana was living Sayat.
B) Murat says that Sayat had been living in Astana.
C) Murat says that Sayat was living in Astana.
D) Murat says that Sayat is living in Astana.
E) Murat says that Sayat living in Astana. ]
35. If the technology ____available, we would be able to expand the business.
A) Wouldn’t become
B) Were become
C) Would become
D) Will become
E) Became
36. Choose the right variant of a question:
A) You dine in the cafe or at home?
B) She is going to have salad or sandwiches?
C) You take your tea with toasts or cakes?
D) Do you have your coffee with biscuits or lemon?
E) Nick likes tomato soup, does he?
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37. Fill in the gap with the correct variant:
My neighbour Bill his car to work every day last year, but now he
goes to work by bus.
A) Has left.
B) Used to ride.
C) Was using to ride.
D) Uses to ride.
E) Used to riding.
38. He wouldn’t have come back ifyou _____ him.
A) Hadn’t called
B) Called
C) Have call
D) Haven’t call
E) Have called
39. Choose the correct variant:
Who ... questions?
A)Have,
B)Has.
C) Are.
D) Had been.
E) Was.
40. Identify the part of speech of the underlined pronoun:
He scored a goal and we all cheered him.
A) Predicate.
B) Adjective.
C) Object.
D) Subject.
E) Adverbial modifier.
41.I'll do it...you told me.
A) lest
B) such
C)as
D) if
E) unless
42. Answer the question: What are you looking forward to?
A) I'm looking forward to winter holidays,
B) I’m looking around to see any chair.
C) I’'m looking for my dictionary.
D) I'm looking this word up.
E) I'm looking after my child.
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43. She gets up.. .than everybody else in house.
A) earlier
B) early
C) the earlier
D) earliest
E) the earliest
44. What have you been doing ..... I last saw you?
A)or
B) until
C)if
D) since
E)as
45. Choose the suitable variant:
She looks ....in her new hat.
A) Niceful
B) Nicly
C) Nicely
D) Nice
E) Niceless
46. Choose the right form:
She ate (hard) anything because she didn’t feel hungry.
A) Harder.
B) Hardly.
C) More hardly.
D) Hard.
E) Hardest. )
47. The minister was taken ill in Iceland during a short ... on his way back to
Canada.
A) stopup
B) stopthrough
C) stopdown
D) stopover
E) stopabove
48. “the 23-rd”
A) the twenty and threeth
B) the twenty three
C) the twenty and third
D) the twenty thirds
E) the twenty third
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49, Tt is easy to -interpret someone’s e-mail if its author has poor Grammatik
skills.
A) Un-
B) Dis-
C) Under-
D) Im-
E) Mis-
50. .....of people came to the concert.
A) the thousands
B} Thousandth
C) Thousands
D) a thousands
E) Thousand’s

Jlexcuxo-rpammaTruecKkuii TecT
3ABEPHIEH
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Text 1
Egyptian Pyramids
v Egyptian pyramids are huge structures which are almost 4,600 years old. The
Pyramid of Cheops, for example, consists of 2,300,000 stones. Each of the stones
weights about 2,5 tonnes.

According to the usual explanation large blocks of stone were cut in the
mountains and then transported with the help of the most primitive equipment. About
100 thousand people had to take part in the construction.

But the experiments of our institute show that the stones of pyramids were not
transported to the construction site. Twelve years of research in the field of chemistry
and archaeology have given quite a definite answer. The stones of pyramids were
made synthetically. Egyptians produced some special solutions. Later they mixed it
with one of the minerals. It took them several hours to transform this mixture into
very hard rock. This rock was produced just on the construction site and so there was
no need of transporting heavy stones.

Now scientists and engineers know how to produce hard materials synthetically.
At present similar materials are used in industry. The synthetic rock looks like
limestone granite or any other rock.

The Egyptians had a great knowledge of mathematics and chemistry and they
could know this technique. The necessary minerals could be found everywhere.

Only the use of this technique can explain some strange facts. First of all, the
presence of huge monolithic stones inside the pyramids which are too large for the
entrance door and the presence of a human hair which is 21 cm long inside one of the
stones.

1. How many people were involved in the construction of pyramids?
A) 80, 000 ~
B} 100, 000
C) 50, 000
D) 10, 000
E) 200, 000 '
2. How much time did it take Egyptians to transform the mixture into hard rock?
A) A month.
B) Two days.
C) A week.
D) Several hours.
E) Several days.
3. .... know how to produce hard materials synthetically.
A) Writers,
B) Doctors.
C) Astronauts.
D) Engineers.
E) Astrologers.
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4, Where are similar materials used at present?
A) In industry.
B) In astrology.
C) In education.
D) In laboratories.
E) In medicine.
5. How many years did the research on chemistry and archaeology last?
A) 10 years.
B) 15 years.
C) 20 years.
D) 5 years.
E) 12 years.
6. What does “2.5” refer to in the text?
A) The number of years during which the latest research was held.
B) The weight of each stone of a pyramid.
C) The length of the hair which was found in one of the stones.
D) The number pf stones used to build the pyramid.
E) The number of people who built the pyramid.
7. What did Egyptians make to produce stones?
A) Special robots.
B) Special machines.
C) Special mixture.
D) Special stones.
E) Special equipment
8. What do the experiments of the institute show?
A) The stones were not transported. )
B) The stones were transported by animals.
C) The pyramid were built by Chinese.
D) The pyramids were built with the help of primitive equipment.
E) The pyramids were built by English people.
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Text 2

Movies

Movies are the most popular form of entertainment for millions of Americans.
They go to the movies to escape their normal everyday existence and to experience a
life more exciting than their own. They may choose to see a particular film because
they like the actors or because they've heard the film has a good story, But the main
reason people go to the movies is to escape. Sitting in a dark theater, watching the
images on the screen, they enter another world that is very real to them. They become
involved in the lives of the characters in the movie, and for two hours, they forget all
about their own problems. They are in a dream world where things often appear to be
more romantic and beautiful than in real life.

The biggest "dream factories" are in Hollywood, the capital of the film industry.
Each year, Hollywood studios make hundreds of movies that are shown all over the
world. People everywhere have seen the films of Charlie Chaplin, Humphrey Bogart,
Marilyn Monroe and more recently, Clint Eastwood and Sylvester Stallone.
American movies are popular because they tell interesting stories and are well-made.
They provide the public with heroes who do things the average person would like to
do but often can't. People have to cope with many problems and frustrations in real
life, so they get a lift when they see the "good guys" win in the movies.

Hollywood producers are usually not as successful as the heroes in their movies.
It's hard for them to predict what the movie-going public will want to see a year from
now. In fact, seven times out of ten, producers are unsuccessful and their movies lose
money. Since the average Hollywood movie costs $12 million to make, a picturfa thgt
"bombs" at the box office can be a disaster for the producer. Making movies is
obviously a very expensive and risky business. But it's also an exciting z}nd
glamorous business, and there's always the chance of producing a blockbuster like
Star Wars. _

Hollywood produces many different kinds of films, including mysteries,
comedies, musicals, love stories, and horror films. As different as these films may be,
they generally have one thing in common—conflict. The main charac_ter, or
Protagonist, wants something very badly and will do anything to get it. The
antagonist tries to stop the protagonist from achieving his goal. This opposition
creates conflict, and conflict is the heart of drama. To give an example, let's say the
protagonist is a young man from the wrong side of the tracks who wants to marry the
beautiful daughter of a rich banker. The father thinks the young man is unworthy 9f
his daughter, and he forbids her to see him. The young man, who is very much in
love, refuses to give up without a fight. The conflict between thg young man and the
girl's father is what makes the story interesting; it forces the main characters to take
action, and through their actions we see them as they really are. In a good story, the
protagonist changes — he is not the same at the end of the story as he was at the
beginning. He learns something from his experience tha't ma.kes him a d11’jferent,
perhaps better person. And we learn something from watching h1m Good movies not
only entertain us, they also help us understand a little more about life.
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9. What creates conflict?
A) Love creates conflicts.
B) Opposition creates conflicts,
C) “good guys” create conflicts.
D) Mystery creates conflicts.
E) A good play of actors.

10. According to the text, movies are ...

A) The most popular form of entertainment.
B) A kind of performance.

C) The most boring industry.

D) The most difficult industry.

E) The most exciting form of entertainment.

11. Who is protagonist?

A) A politician.

B) A bishop.

C) The main character of a movie.
D) A producer.

E) Screen player.

12. Who are some famous Hollywood stars?

A) Katrin Denev, Pier Rishar.

B) Michalkov, Mechikov.

C) Michael Jackson, Jimi Henrix.

D) Chakraborti, Gandy.

E) Charlie Chaplin, Marilyn Monroe.

13. Hollywood is ...

A) Enormous cinema.

B) The place where only the rich live.
C) The capital of the film industry.
D) Picturesque landscape.

E) The capital of the film producers,

14. The movie “Star Wars” is ...

A) Blockbuster.
B) Love story.
C) Musical.

D) Comedy.

E) Drama.

15. How much does it cost to make an average Hollywood movie?
A) It costs $12 billion to make a picture.
B) It costs $12 million to make a picture.
C) It doesn’t cost $12 million to make a picture.
D) It costs as mush as possible.

E) Everything depends on actors.
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16. What kind of movies are made in Hollywood?
A) Mysteries, comedies, musicals, love stories.
B) Ballets, concerts.

C) Performances, operas.
D) Educational, news programs.
E) TV shows.
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Text3

“Love for Sale”

There is a particular breed of humans who love animals. Some of these
people are dog-lovers; others are attached to cats; some prefer horses, fish, or birds. A
few love all animals, including mice and snakes. True animal lovers are devoted to
keeping their pets safe, happy and healthy. For example, a rich American woman,
Mrs. Rockefeller-Dodge, at one time spent $50,000 a year feeding her fifty dogs the
finest cuts of meet. Her family finally took her to court to try to stop her from
squandering her money in this way. The judge, however, agreed with Mrs. Dodge and
she continued treating her dogs to the life style she felt they deserved.

Animal lovers like Mrs. Dodge believe their affection is returned, and
they have evidence to support their belief. Accounts of amazing, often heroic animal
behavior suggest that many animals are, in fact, people-lovers. A canary in Tennessee
saved the life of the old woman who fed it; a dog in Switzerland rescued more than
forty people who were in danger of freezing in the mountains; a Japanese dog
continued to meet his master’s train for more than ten years after his master had died;
off the coast of New Zealand, ships used to sale safely through a dangerous channel
only because they were guided by a friendly porpoise.

With stories of devotion like these to encourage them, people willingly
return their pets’ affection by buying them things. Not only do Americans spend
more than three billion dollars annually on basics like food, grooming, and
veterinarian services, they provide their animals with extras like clothes, jeweled
collars, special dishes, beds, and in extreme cases, sunglasses and pet psychiatrists.

No evidence exists to prove that this expensive treatment makes the
animals any happier, but it certainly pleases the pet industry. This industry has grown
to a healthy six billion dollar business and looks forward to a rosy future. As one pet
dealer said, “We offer love for sale. Not many businesses can make that claim”.

17. Who spent at one time 50.000 dollars to feed her dog?
A) arich Austrian woman
B) arich Armenian woman
C) arich Australian woman
D) arich American woman
E) arich Argentinean woman
18. What kind of extras do they provide their animals?
A) books, jeweled collars, money
B) clothes, telephones, beds
C) clothes, jeweled collars, beds
D) clothes, jeweled collars, ships
E) clothes, jeweled coats, beds
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19. Where did the accident with forty people take place?
A) in Sheffield
B) in Stirling
C) in Shrewsbury
D) in Switzerland
E) in Salisbury
20. How much money do Americans spend annually for pets?
A) more than three million dollars
B) more than two million dollars
C) more than three billion dollars
D) more than two billion dollars
E) more than four billion dollars
21. Where did ships sail safely through a dangerous channel?
A) off the coast of Nicaragua
B) off the coast of New Jersey
C) off the coast of Nigeria
D) off the coast of Norway
E) off the coast of New Zealand
22. What saved the life of the old woman?
A) a canary
B) a peacock
C) a parrot
D) a lark
E) a sparrow
23. How many dogs did Mrs. Dodge have?
A) twenty dogs
B) sixty dogs
C) fifty dogs
D) forty dogs
E) thirty dogs
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Text 4

Ethnic groups in Kazakhstan
During the decades Kazakhstan was formed as a state with a wide variety of
ethnic groups with varying religions — Tengrism, Zoroastrism, Buddhism,
Christianity, Hinduism, Islam and others. Today in Kazakhstan there are
representatives from more than hundred nationalities. There are over 40 confessions
in the Republic. In such conditions maintenance of national peace and confessional
consent is only acceptable in the country.

Islam is the largest religion practiced in Kazakhstan. A specific feature of
Islam as a world ideology of the Muslim population of the country is peculiar
syncretism with the local traditions. In the Kazakh steppe Islam did not become 2
leading principal of the state life and politics, but was ratified as a component of the
culture and religious-cultural policy.

The Muslims of Kazakhstan mainly practice Sunni Muslims of the
Hanafi School. The Hanafi School appeared in § century in Iraq. Its founder was Abu
Hanifa. The prosperity of this tendency was in 9-10 centuries. The nations of the
Cental-Asian regions willingly excepted the Hanafi Schools, as it distinguished
tolerance of other people’s views, a wide usage of local rights (adat), formed during
the before Islamic period, respect for the patriarchal traditions. Further more, respect
to Jewish and Christians is distinctive to this school, and in the court practice
decisions on the analogy are encouraged and the freedom of judgment is allowed.

In the Middle Ages Sufism was spread in Kazakhstan. It is extremely
complicated and systematic religious ideology. The spread of Sufism is explained
that it brought famous spirituality, high moral-ethnic ideals. It absorbed traditional
national cults, faiths and transmitted them. An ancestor of Turk Sufis is supposed to
be Khodja Akhmed Yassavi. Sufism is characterized by tolerance, ability to
assimilation of local traditions and faiths.

In 1990 the Spiritual Administration of the Muslims was founded in
Kazakhstan. The spiritual administration has a developed structure, including the
department of international cooperation, which main objective is regulating
connections and contacts with the Muslims of the world.

The second most practiced religion in Kazakhstan — Russian Orthodox Church
— has about 220 districts and several cloisters.

Before 1991 the guidance of all districts of Russian Orthodox Churches
in Kazakhstan was realized by the united diocesan administration (Almaty —
Kazakhstan eparchy). In autumn 1991, firstly, the archbishop of Almaty and
Semipalatinsk Alexey met with the President of Kazakhstan N. Nazarbayev where
were discussed the issues about having the united spiritual centre in Almaty uniting
all Kazakhstan structures of the Russian Orthodox Church. In January 1992 the
Sacred Sinod decided to create three independent eparchies: Almaty, Shymkent and
Uralsk. In July 1995 on the session of the Sacred Sinod at the instance of members of
higher orders of clergy, carrying obedience on the territory of Kazakhstan, the
Orthodox eparchy commissions was formed, containing bishops of Almaty,
Shymkent and Uralsk. The head of the commission became an archbishop of Almaty,
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Semipalatinsk Alexey. Actually the Eparchy Commission became a centralized
apparatus of the Russian Orthodox Church in Kazakhstan,

The Russian Orthodox Church prepares specialists of priests in the
Almaty eparchy spiritual specialized school, has a quarter in the Moscow theological
seminary. During the last years enlightening and charity activities of the Russian
Orthodox Church became more intense in Kazakhstan. It has its periodicals, and
parish schools are functioning.

Recently, the Roman Catholic Church livened up the work in
Kazakhstan. Diplomatic relations between Republic of Kazakhstan Sacred throne
were established in October 1992. On the 9" of April 1994 a bishop Marian Oles was
pointed as an apostolic nunsio, in other words the ambassador of the Pope. In
September 1998 the Pope and the President of Kazakhstan signed “The agreement
about mutual collaboration between the Government of the Republic of Kazakhstan
and the sacred throne”. Kazakhstan became the first country among the
Commonwealth of Independent States by making such step. In 1999 the Decree of
the Pope John-Paul II appointed apostolic administrator for Almaty and the South.

There are about 300 thousand of Catholics in Kazakhstan. They are
representatives of German, Polish, Ukrainian diasporas, which were organize in the
results of repressions. The local Catholics were sent to Kokchetau, Akmolinsk and
Kostanai oblasts of Kazakhstan both during the period of the tsar regime and before
the Great Patriotic War. Today there are about 250 districts in Kazakhstan, 90
catholic communities and 160 groups of visiting function, here three bishops, over 60

priests and 70 religious sisters work.

24. How many priests work in the Republic of Kazakhstan?
A) over 40
B) over 70
C) over 80
D) over 90
E) over 60
25. How many religious sisters work in the republic of Kazakhstan?
A)T5
B)65
C) 60
D) 55
E)70
26. When was the Decree od the Pope John-Paul II signed?
A) 1996
B) 1994
C) 1998
D) 1999
E) 1992
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27. How many groups of visiting function are there in Kazakhstan?
A) 120
B) 140
C) 100
D) 160
E) 180
28. When were diplomatic relations between Kazakhstan and the Sacred throne
established?
A) 1993
B) 1994
C) 1990
D) 1991
E) 1992
29. What is the largest religion practiced in the republic?
A) Islam
B) Christianity
C) Hinduism
D) Zoroastrism
E) Tengrism
30. Who was appointed as an apostolic nuncio?
A) Akhmed Yassavi
B) Alexey
C) Abu Hanifa
D) Marian Oles
E) Khodja Yassavi

TECT O BJOKY Yrenne
3ABEPILIEH
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Text 1
1. What did she want to become?
A) a writer.
B) a teacher.

C) a journalist.
D) a translator.
E) a doctor.

2. How did she pay for her tuition?

A) She gave music lessons.
B) She taught English.

C) She worked in hospital.
D) Her brother helped her.
E) She worked at the factory.

3. Why couldn’t Elizabeth Blackwell realize her dream of becoming a surgeon?

A) It was difficult for her to start a practice in the United States.
B) A serious eye infection halted her quest.
C) She couldn’t get admitted to medical school. .
D) She changed her mind to be a surgeon in her third year of medical school.
E) She decided to further her education in Paris.

4. When was she born?
A)in 1849.
B)in 1921.
C)in 1857.
D)in 1841.
E)in 1821.

5. What century did she live?
A) the ninetieth century
B) the nineteenth century
C) the eighteenth century
D) the ninth century
E) the seventeenth century
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Text 2

6. The vegetable instruments are used ...
A) only once
B) during a month
C) twice
D) during 1 summer
E) for a long time
7. This text is about. ..
A) Modern orchestra
B) Old Classical orchestra
C) Fruit orchestra
D) Vegetabie orchestra
E) Food orchestra
8. Where do people make instruments out of old cars?
A) North America
B) Asia
C) South America
D) Europe
E) Africa
9. Why is the Orchestra called “Vegetable”?
A) all instruments are made from vegetables
B) there isn’t some special reason
C) people come to concert with vegetables
D) musicians like to eat vegetables
E) it takes place in the vegetable field
10. What is the main concept of this orchestra?
A) everybody can play musical instruments
B) everybody can make musical instruments
C) you can play music anywhere
D) you can make sounds with anything
E) all the variants are wrong
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Text 3

11. How much does the dolphin hug cost?
A) $5 for 5 minutes
B) $30 for half an hour
C) $100 for an hour
D) $ 13 for 10 minutes
E) $135 for 30 minutes
12. You can feed dolphins with ...
A) sweets
B) al] the answers are wrong °
C) some special food
Dj) fish
E) peas
13. The skin of dolphins is ...
A) wiry
B) damp
C) smooth
D) delicate
E) pleasant to touch

14. Hugging a dolphin is an excellent activity...

A) to increase your knowledge
B) to become a good swimmer
C) to understand animals
D) to lower the stress levels
E) to become kind
15. Dolphins like to...
A) be loved
Bj eat
C) sleep
D) play
E) be loved and play

AynMpoBaRUue
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Text 4
16. Native Americans call their old people...
A) young
B) elder
C) grandparents

D) pensioners
E) senior citizens
17. What company made her to be an old woman ?
A)CNL
B) Discovery
C)BBC
D) Discovery Europe
E) TBN
18. How many old people are there in Britain?
A) 5 million
B) not too much
C)20%
D) more than 10 million
E) 2 million
19. In what country are old people treated with more respect in comparison with
Britain?
A) in Australia
B) in Austria
C) in Sweden
D) in all the countries
E) in Russia
20. What was she carrying?
A) nothing
B) two shopping bags
C) some big bag
D) keys
E) a book

TECT 11O BJIOKY Ayauposanne
3ABEPINEH
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JlekcHKO-rpaMMaTHYeCKHiH TeCT

1. Choose the correct variant:
I don’t like her. She always ....
A) Complain.
B) Has complained.
C) Complains.
D) Complaining,.
E) Was complaining.
2. Choose the suitable variant:
Tomorrow the day ..... at home by all the family.
A) Have been spent.
B) Is spent.
C) Will be spent.
D) Was spent.
E) Are spent.
3. Choose the correct vatiant:
Alice ..... her mother in London most weekends.
A) Has seen
B) Sees
C)Isto seeing
D) See
E) Will see :
4.Fill in the gap with the correct variant:

You ... work hard at your French if you want to pass the exam.

A) Could.
B) Might,
C) Must.
D) May.
E) Can.
5. Choose the correct verb from:
There ... a lot of people in the theatre yesterday.
A) Has.
B) Is.
C) To be.
D) Was.
E) Were.
6. Choose the correct variant:
We ... pupils two years ago.
A)Is.
B) Are.
C) Were.
D) Am.
E) Was.
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7. We’ve nearly run of coffee, Jane. A ... we've got left will be drunk tomorrow.
A)Much.
B) Nothing.
C) Some.
D) Little.
E) A few.
8. Choose the right variant:
John said he was feeling ill. I was feeling pretty bad ......
A) Ourselves.
B) He.
C) Me.
D) Himself.
E) Myself.
9. George comes ... a good family.
A) from
B) with
C) out of
D) off
E)of
10. Choose an appropriate preposition:
Cats are afraid.......dogs.
A) On.
B) By.
C) Off.
D) With.
E) Of.
11. Complete the sentence:
Alison never the radio.
A) Listens to.
B) Listenes.
C) Listens at.
D) Listens for.
E) Listens.
12. Choose the correct answer.
She serves people food and drink.
A) To.
B) For.
C) On.
D) With.
E) By.
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13. Give the synonym of the word: travelling
A) Train
B) Hotel
C) Life
D) Trip
E) Crowd
14. Choose the similar word to the underlined one.
His name is constantly mentioned in the gossip column.
A) Carefully
B) Evidently
C) Often
D) Continuously
E) Now and then
15. Choose the opposite to: Fast
A) Quite.
B) Still.
C) Slow.
D) Rapid.
E) Quick.
16. Choose the opposite to the given word: Light
A) Black.
B) Easy.
C) Slight
D) Dark.
E) White.
17. Where is the.....bakery?
A) more nearer
B) most near
C) the next
D) nearest
E) near
18. Choose the right variant:

According to Ushinsky “life without serious work can neither be worthy nor ...

A) Happiest.
B) Happy.

C) Most happy.
D) Happier.

E) More happy.

15. The closer you are to the Equator, ___.
A) more hot it gets
B) it gets hot
C) it gets hotter
D) the hottest it gets
E) the hotter it gets
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20. Which do you think is ___: a holiday in the country or a holiday in a summer
camp?
A) the most interesting
B) more interesting
C) as interesting as
D) interesting
E) interestinger
21. Choose the adjective:
A) Changing.
B) To change.
C) Changeable.
D) Exchange.
E) Change.
22. Choose the correct answer:
A pessimist is a person who always expects bad things to
A) Is happen. '
B) Happen.
C) Happened.
D) To happen.
E) Happening,
23. Choose the correct form of the verb.
I saw Mary ... the street.
A) Crossed.
B) Had crossed.
C) Has crossed.
D) Crossing.
E)Is crossed.
24. Complete the sentence:
Myuncleis ... .
A) My mother’s brother.
B) My brother’s brother.
C) My sister’s brother.
D) My mothers brother.
E) My mothers’ brother.
25. Choose the correct variant:
I chanced ... Mary in the street yesterday.
A) Met.
B) To meet.
C) Meeting.
D) Is meeting,
E) To meeting.
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26. Choose the correct form of the verb.
My mother let me ... to the cinema with my friends.
A) Go.
B) Went.
C) Going.
D) Will go.
E) To go.
27. This is the .....bag.
A) postmans
B) postmen’
C) postman’s
D) postmans’s
E) postmens
28. Choose the correct variant:
, he decided to go to the Far East.
A) When he had been graduating the new school
B) When he was graduating to the university
C) Upon graduation the university
D) Having graduated from the university
E) Having graduation, it was found that
29. Complete the sentence:
When you get back, I ........ painting the front door.
A) Would have finished
B) Will have been finishing
C) Will finish
D) Will have finished
E) Will be finished
30. Choose the correct form of the article. I live in Abai Street.
A)A
B) The
C) An
D)-
E) One
31. Choose the right form of the verbs:
If Dad ... (buy) a new car, we ... ... (go) to the sea-side by car next summer.
A) Will buy, will buy.
B) Buys, will go.
C) Will buy, go.
D) Will buy, are going.
E) Buy, will go.
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32. Last September detectives said that they ... missing girl.
A) have found
B) were finding
C) had found
D) have find
E) find
33. Choose the correct answer.
people don’t like rock music.
A) Are.
B) Some.
C) Any.
D) None.
E) An.
34. Paul said: “I'm feeling ill”.
A) Paul said he was feeling ill
B) Paul said he were feeling ill
C) Paul said he had been feeling ill
D) Paul said he has been feeling ill
E) Paul said he feels ill
35. ___ inmy seventies and rather unfit, | might consider taking up squash.
A) Weren't I
B) 1 wasn’t
C)Iam
D) Was I not
E) If I weren’t
36. Form a sentence using these words:
(1) They (2) cold (3)wore(4)the (5)warm (6)from (7)clothes(8) themselves
(9to (10) protect
A) 9/10/8/6/2/1/3/4/517
B) 5/2/9/7/1/3/8/6/4/10
C) 10/9/6/4/1/8/2/3/5/7
D) 4/1/7/5/3/2/5/10/6/8
E) 2/4/7/10/1/3/5/9/6/8
37. He will return from London in June; his sister.....there another month.
A) stayed
B) will stay
C) stay
D) stay’s
E) will stay’s
38. If T had known how difficult the job was, I ____it.
A) won’t take
B) will take
C) won't have taken
D) have taken
E) wouldn’t have taken
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39. Find the correct sentence made from these words:
Has, buildings, our, several, institute.
A) Our several institute has building.
B) Has our institute several buildings.
C) Several buildings our institute has.
D) Institute our has buildings several.
E) Our institute has several buildings.
40. The signal was given; the steamer .....slowly from the dock.
A) moving
B) has been moved
C) moved
D) had been moved
E) have been moved

41. .... I have not read the book, I can’t tell you anything about it.

A) that
B)as
C)and
D)if
E) until
42. Complete the disjunctive question:
Paul went to Florida, he?
A) Was.
B) Didn’t.
C) Will.
D) Wasn’t.
E) Did.
43. Couldn’t you drive a bit ......
A) carefullier
B) carefull
C) more careful
D) most careful
E) the carefull
44, Choose the correct variant:
I like working with computers.
A)SodoL
B) Neither don’t I.
C) Neither do L.
D)Soam L
E) Neither I like.
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45. Choose the suitable variant.
This place gets ... crowded with tourists every summer.
A) more and more
B) always most
C) from more to more
D) much
E) crowded and more
46. Some inspiration is ... for the experiment.
A) really essential
B) essential pretty
C) fairly essentially
D) very essentjally
E) real essential
47. The ... isn’t interested in the finer points of the government’s tax policy. They
just want to know if they are going to take home more or less pay.
A) man-along-the-street
B) man-down-of-the-street
C) man-out-of-the-street
D) man-up-the-street
E) man-in-the-street
48. Do the sums. Twenty nine plus forty one is ...
A) Sixty
B) Seventeen
C) Sixteen
D) Fifty
E) Seventy
49. All children in the UK are offered vaccinations against key diseases as part of the
national child- __immunization schedule.
A) —ment
B) —ful
C) - ance
D) - dom
E) - hood
50. .....of people came to the concert.
A) Thousands
B) Thousandth
C) the thousands
D) a thousands
E) Thousand’s

Jlexcako-rpaMmaTHYecKHii TecT
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Text 1
Pantomime

Many foreigners think that pantomime is the same as mime, but in Britain they
are two different things. Everyone knows that “mime” means acting without
speaking, but “pantomime” has changed in its form over the centuries and British
pantomime is now a very noisy show full of shouting and singing from the audience
as well as the actors.

We do not have pantomime all through the year. It is a winter show which
begins in late November or early December and continues for a couple of months
after Christmas. All schoolchildren have their winter holiday sometime in this period,
and if they are Iucky, their parents will take them to see the local pantomime. In
London there are several to choose from.

The story of a pantomime is always well-known. There are about half a dozen
traditional stories like “Sleeping Beauty”, “Cinderella”, and “Peter Pan” and “Snow
White” and most children all over the world know them by heart. The famous
American animator and film-maker, Walt Disney, was quick to recognize their
popularity and made several of them into full-length cartoon films. '

The strangest thing about pantomime is that the handsome young man or
“principal boy” is always played by woman and the old lady or “pantomime dame” is
always played by man! This creates a funny situation with two women singing love
songs to each other — because the handsome prince is always a woman. But this is a
very old tradition and the audience expects it to be like this. To make it stranger still,
the girl in boy’s costume always looks and sounds completely like a girl — and
similarly, everyone can easily see that the old woman is really a man,

1. A handsome young man or “principal boy” in pantomime is always played by

A) A woman.

B) A child.

C) Young people.

D) A man.

E) A traditional actor.
2. Playing women roles by men and vice versaisanold ... .

A) Problem.

B) Tradition.

C) Competition,

D) Task.

E) Situation.
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3. In Britain pantomime is ... nowadays.
A) Silent.
B) Only singing without speaking.
C) Full of light effects.
D) Is the same as mime.
E) A very noisy show.
4, Their parents will take them to see ... .
A) The local pantomime.
B) Sunset.
C) Feature films.
D) Cartoon films
E) Plays.
5. Who was quick to recognize the popularity of pantomime?
A) Jack Londorn.
B) William Shakespeare.
C) Walt Disney.
D) Charles Dickens.
E) Sherlock Holms.
6. Winter show continues for ... after Chrisimas.
A) Three months.
B) Two months.
C) Several months.
D) Few months.
E) A month.
7. “Mime” means ... .
A) Acting without moving,
B) Only singing.
C) Acting without speaking.
D) Singing and shouting.
E) Speaking without acting.
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Text 2

The Problems of Inventors

Many of the modern world's most famous discoveries and inventions were not
made by scientists, but by amateur inventors. Often, these inventors had such unusual
ideas that they were laughed at. But people like these, working on their own, gave us
many of the things we use every day.

Clarence "Bob” Birdseye, who invented frozen foods, was both a successful
inventor and a good businessman. But it took him years to overcome the biggest
problem of successful inventions - convincing people to try something new and
different. Birdseye first tried to freeze fish. After years of experimenting with the
process, he started Birdseye Seafoods, Inc. But the company soon went bankrupt.
Even though the process worked, people didn't believe that frozen fish could possibly
be good. It took a long time, but people finally accepted frozen food. By the end of
his life, Birdseye, who was completely self-taught inventor, had 100 patents that he
sold for a total of 22 million dollars.

Few inventors were as successful as Birdseye. Some, like the original owners of
Coca-Cola, didn't realize the potential of their discoveries. The son of the inventor of
Coca-Cola sold the recipe for $2,300. Today the product is worth billions of dollars.
In 1853, Karl Gerhardt invented aspirin, but he didn't know what to do with it. Fifty
years after his invention, a German company discovered that it was a painkiller and
has since made millions selling it. Edwin Armstrong invented FM radio, but he spent
his whole life trying to protect his invention. Competitors stole his patents, and
companies cheated him out of money. Finally, he became so frustrated with his
failures that he ended his life by jumping out of a window.

Most great inventors, like Gerhardt and Armstrong, made little or nothing from
their inventions. The first person with a new idea may get attention, but he also gets
the problem of an untried idea. In business, it is sometimes better to be second.

8. Gerhardt’s invention appeared in:
A) 1893
B) 1983
C) 1753
D) 1953
E) 1853
9. Why did Birdseye’s first company go bankrupt?
A) people didn’t like fish
B) people cheated him out of company
C) people didn’t believe frozen fish could be good
D) people didn’t have money
E) people didn’t like him
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10. Who discovered that aspirin was a painkiller?
A) German company
B) Austrian company
C) French company
D) Georgian company
E) Chinese company
11. What did Clarence Birdseye try to freeze first?
A) cheese
B) fish
C) forage
D) meat
E) fruit
12. When did German company find out that aspirin could possibly be useful?
A) forty years after its invention
B) fifty years after its invention
C) twenty years after its invention
D) sixty years after its invention
E) thirty years after its invention
13. Who invented frozen foods?
A) Clarence Beoyence
B) Christopher Birdseye
C) Carsper Birdseye
D) Clarence Birdseye
E) Carl Birdseye
14. By the end of his life Birdseye had:
A) 100 pets
B) 100 passions
C) 100 parties
D) 100 patents
E) 100 patients
15. Armstrong spent the whole life trying:
A) to invent something new
B) to protect his invention
C) to improve his invention
D) to help homeless people
E) to travel abroad
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Text 3
Britain and Britons

Of the early Britons, their life and their habits, we know little but what has been
told us by the Roman writers. It is fortunate for us that the age of Julius Caesar was
one in which some of the great Roman authors lived, and two of these authors have
left us interesting accounts of the Britons. The first account is that given by Caesar
himself. A second account we get from the pen of one who, as a writer, was even
more famous than Caesar. In a book called the "Agricola", Cornelius Tacitus has
written an account of the Britons as they were a hundred years after the date of
Caesar's landing.

From what Caesar and Tacitus tell us we can get some idea of what the Britons
were like. By the Romans they were regarded as savages, but it is easy to see, by
what the Romans themselves tell us about them, that the Britons were not really
savages at all. English people in our own time sometimes make the same mistake
which the Romans made, and treat the people of other countries as savages and far
below them, just because their habits are strange and their ways of thought are not
like our own.

We do not know a very great deal about what the Britons were really like, but
we do know some things about them. The men were tall and handsome, and fought
bravely in battle. They lived in villages made up of a number of small houses or huts
surrounded by a high wall. They lived chiefly by hunting and fishing, and there were
always plenty of wild animals to kill and fish to catch, for we must not forget that the
time we are speaking of, England was covered with thick forest, and the rivers,
instead of being shut between close banks, often spread over the land and made great
swamps and marshes. In the forests there were wolves, wild boars, and many'other
animals which are quite unknown in England in our own day. It was of the skins of
these animals that the Britons made their clothes.

The Britons did not drink wine, but they made a strong drink of hgney. The
Britons were heathens and believed that there were many gods. Their priests were
called Druids. They said that their gods lived in the very thickest and darkest parts of
the woods, and they used to go to pray to their gods under the great oaks in the
forests; they wore long white robes, and the people held them in great awe.

The Druids have been dead hundreds of years, and their rel_igmn has b'een long
forgotten; but there are still some things in England in our own time to remind us of
the white robed Druids and their strange religion. .

If we take the train to Salisbury, and then drive rather more than ten miles after
Salisbury Plain, we shall suddenly come to a very strange sig_ht. In the 'rrufidle of the
plain we shall see a number of great stones - some of them lying on their sides on the
grass, others standing straight up, and some of them resting upon other great stones.
The stones are of enormous size and very heavy - many of them are from twenty-
three to twenty-eight feet high.

The pla?; ingvt‘l/hich thegs}e1 strange stones have been set up is Ston.ehenge, and the
stones were setup there before the time of Julius Caesa.r by t:he Druids. Stonehenge
was one of the places where the Druids used to worship their gods; and though no
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one quite knows why they set up the stones, it is certain that they were looked upon
by the Britons as being very sacred.

There is another thing besides the great stone circle which ought to remind us of
the Druids, Most of us, whether we live in town or country, have seen the sprigs of
green leaves with white berries which are put up among the holly and laurel leaves at
Christmas. They are the mistletoe leaves and berries which are gathered from plants
which grow on the stems of the trees in many parts of England. It was the Druids
who first used the mistletoe. They thought that its berries were sacred or holy, and
they often put them up in the places where they prayed to their gods.

We have long forgotten all about the gods to whom the Druids prayed, but we
have not forgotten about the mistletoe they were so fond of. The Romans came over
and conquered the Britons, the great stones at Stonehenge tumbled down, and many

changes, good and bad, took place in England, but the use of the mistletoe bough was
never quite forgotten.

16. What did the Britons get used to drink?
A) water
B) tea and coffee
C) wine
D) strong drink of honey
E) milk
17. Why did the Druids use the mistletoe in the places of their prayers?
A) The Druids considered them not to be eatable.
B) The Druids considered them to be tasty.
C) The Druids considered them to be holy.
D) The Druids considered them to be sweset.
E) The Druids considered them to be of bitter taste.
18. The Romans came over and ... the Britons.
A) found
B) became reconciled with
C) conquered
D) made friends with
E) resigned the country to
19. How were the priests of that time called?
A) Archbishops
B) Druids
C) clergyman
D) Britons.
E) saint patrons
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20. What clothes did the Druids wear?
A) Long black and white robes.
B) Long grey clothes.
C) Short white ceremonial dress.
D) Long checked clothes.
E) Long white robes.
21. Where did the Druids go to pray to their gods?
A) In front of the altar
B) in the church
C) near the river
D) under the birches
E) under the great oaks
22. Who wrote about early life of Britons?
A) An unknown writer
B) Seneca
C) Great Roman authors
D) The Britons themselves
E) Julius Caesar and Cornelius Tacitus
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Text 4

The life of desert animals

Since water is the basis of life, composing the greater part of the tissues of all
living things, the crucial problem of desert animals is to survive in a world where
sources of flowing water are rare. And since man's inexorable necessity is to absorb
large quantities of water at frequent intervals, he can scarcely comprehend that many
creatures of the desert pass their entire lives without a single drop.

Uncompromising as it is, the desert has not eliminated life but only these forms
unable to withstand its desiccating effects. No moist-skinned, water-loving animals
can exist there. Few large animals are found: the giants of the North American desert
are the deer, the coyote, and the bobcat. Since desert country is open, it holds more
swift-footed, running, and leaping creatures than the tangled forest. Its population is
largely nocturnal, silent, filled with reticence, and ruled by stealth. Yet they are not
emaciated. Having adapted to their austere environment, they are as healthy as
animals anywhere in the world.

The secret of their adjustment lies in a combination of behavior and physiology.
None could survive if, like mad dogs and Englishmen, they went out in the midday
sun; many would die in a matter of minutes. So most of them pass the burning hours
asleep in cool, humid burrows underneath the ground, emerging to hunt only by
night. The surface of the sun-baked desert averages around 150 degrees, but 18
inches down the temperature is only 60 degrees.

An example of a desert animal that has adapted to subterranean living and lack
of water is the kangaroo rat. Like many desert animals, kangaroo rats stay
underground during the day. At night, they go outside to look for food. As evening
temperatures drop, moisture from the air forms on plants and seeds. They absorb
some of this moisture and kangaroo rats take in the life-giving water as they eat.

23. What is the topic of this passage?
A) Life underground.
B) Animal life in a desert environment.
C) Desert plants.
D) Animal life in tropics.
E) Man's life in the desert.
24. The word "emaciated" in line 13 is closest in meaning to
A) Healthy.
B) Unmanageable.
C) Wild.
D) Unhealthy.
E) Cunning.
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25. When do desert animals usually hunt?
A) in the morning
B) in the evening
C) in a daytime
D) all the time
E) by night
26. "Desiceating” in line 8 means
A) Life threatening.
B) Moistening,
C) Drying.
D) Killing.
E) Humidifying.
27. The word "greater” in line 1 is closest in meaning to
A) More beautiful.
B) More noticeable.
C) Larger.
D) Stronger.
E) Heavier.
28. The word "austere" in line 14 is closest in meaning to
A) Moderate.
B) Severe.
C) Temperate.
D) Mild.
E) Gentle.
29. The word "they" in line 26 refers to
A) Plants and seeds.
B) The desert population.
C) The burrows of desert animals.
D) Animals.

E) Kangaroo rats.
30. What is the average temperature at the surface of the sun-baked desert?

A) Only 50 degrees.
B) Around 130 degrees.
C) About 80 degrees.
D) Around 150 degrees.
E) Only 60 degrees.
TECT IO BJIOKY Yrenne
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